
October 25,201 1 

Executive Director 
Kentucky Public Service Commission 
21 I Sower Boulevard 
Post Office Box 615 
Frankfort, KY 40602 

PUBLIC SERVICE 
COMMISSION 

Re: Milburn Water District 201 1 Rate Case Filing 

Dear Sirs: 

Attached please find an original and I O  copies of Milburn Water District’s 
Alternative Rate Filing, including a notice to customers and mailing verification. 
In addition, please incorporate by reference in this case Milburn’s annual reports 
on file with the PSC. Milburn is proposing that the new rates become effective 
on December 1, 2011, and has provided a proposed tariff to that effect in the 
attachments to this filing. In addition, Milburn has attempted to the best of its 
ability to fully comply with the Commission’s ARF filing requirements. However, 
please consider this a request for waiver of any filing requirements which Milburn 
may have inadvertently overlooked, on the grounds that all relevant information 
has been provided to allow the processing of this case to begin. 

Finally, please note that Milburn has very low cash levels, and is therefore 
respectfully requesting that the Commission expedite the processing of this case 
if at all possible. We have therefore included a separate volume of information 
which includes the 2010 customer billing records, to allow the PSC Staff to verify 
the billing analysis. We also believe that reduction of the rate case expenses 
associated with this application is in the best interests of all parties. Therefore, 
we respectfully request that the Commission Staff perform a field review rather 
than issuing data requests in order to process this case. 

Mark VAden, Chairman 
Milburn Water District 



APPLICATION FOR RATE ADJUSTMENT 
BEFORE THE PUBLIC SERVICE COMMISSION 

For Small Utilities 
Pursuant to 807 KAR 5076 

(Alternative Rate Filing) 

Milburn Water District 
Name of Utility 

6790 State Route 80E 

Arlinqton, KY 42021 
Business Mailing Address 

Telephone Number 270 I 694-3412 
Area Code Number 

I. Basic Information 

NAME, TITLE, ADDRESS Telephone number of the person to whom 
correspondence or communications concerning this application should be 
directed: 

Name: 

Address: 1861 Countv Road 1129 

Ms. Donna Curtsinner, Office Manager 

Arlinqton, KY 42021 

Telephone Number: (270) 694-34 1 2 

1) Do you have 500 customers or fewer? Yes No 

2) Do you have $300,000 in Gross Annual 
Revenue or less? 

3) Has the Utility filed an annual report with 
this Commission for the past year and 
the two previous years? 

4) Are the utility’s records kept separate 
from any other commonly-owned 
enterprise? 

Yes No 

Yes No 

Yes No 

NOTICE: To be eligible for consideration of a rate adjustment under this 
regulation, you must have answered E to either question I or 2 and E to both 
questions 3 and 4 above. If you answer no to questions 3 or 4, you must obtain 
written approval from the Commission prior to filing this Application. If these 
requirements are not met, you must file under the Commission’s procedural 
rules, 807 KAR 5:OOl. 
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11. Increased Cost Information 

The most recent Annual Report will be used as the basic test period data 
in order to determine the reasonableness of the proposed rates. The 
Annual Report used as the basis for the 12 months ending December 31, 

(1) 

201 0 

a. If you have reason to believe some of the items of revenue and 
expense listed in the Annual Report will increase or decrease, 
please list each item, the expected increase or decrease and the 
adjusted amount. - Please See Attachment A 

Item Per Amount Per 
Annual Report Annual Report 

Revenues: $ 

Total Revenues L 
Expenses: 

Total Expenses L 
Revenues Less 

Expenses L 

Increase 
(Decrease) 

$ 

L 

L 

L 

Adjusted 
Amount 

b. Please describe each item that you adjusted on page 2 and how you know 
it will change. (Please attach invoices, letters, contracts or receipts which 
will help in proving the change in cost). 

Please see Attachment A 

c. Please list your present and proposed rates for each class (i.e., 
residential, commercial, etc.) of customer and the percentage of increase 
proposed for each class: 
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Percent 
Customer Class Present Rates Proposed Rates Increase 

Please see the Customer Notice attached with this application, which 
shows the proposed 20% across-the-board increase. Milburn has 
only one rate schedule for all customers. 

111. Other Information 

a. Please complete the following questions: 

I) Please describe any events or occurrences, which may have an 
effect on this rate review that should be brought to the 
Commission’s attention (e.g., excessive line losses, major repairs, 
planned construction). 

s. 

NA 

2) Total number of Customers 
as of the date of filing: 147 customers 

3) Total amount of increased 
revenue requested: $1 0,915 per vear 

4) Please circle Yes or No: 

a) Does the utility have any outstanding 
indebtedness? Yes No 

If yes, attach a copy of any documents 
such as promissory notes, bond 
resolutions, mortgage agreements, etc. 

b) Were all revenues and expenses listed 
in the Annual Report for 201 0 incurred 
and collected from January 1 to 
December 31 of that year? Yes No 

If no, list total revenues and total 
expenses incurred prior to or 
subsequent to this period and attach 
invoices or other analysis which show 
how amounts were calculated. 
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5) Attach a copy of the utility’s depreciation schedule of utility plant in 
service. Reconcile any differences between total depreciation 
shown on the Annual Report for 2010 and the amount shown on 
this schedule. Attached 

6) If utility is a sewer utility: 

a) Attach a copy of the latest State and Federal Income Tax 
Returns. N/A. 

b) How much of the utility plant was recovered through the sale 
of lots or other contributions N/A $ or %? (If 
unknown, state the reason). 

b. Please state the reason or reasons why a rate adjustment is requested. 
(Attach additional pages if necessary). 

Milburn has not increased its general rates since 2005, based on a 
2003 test year, and its expenses have increased since that time. 

IV. Billinis Analysis 

The billing analysis is the chart reflecting the usage by the customers as well as 
the revenue generated by a specific level of rates. A billing analysis of both the 
current and proposed rates is mandatory for analysis of this rate filing. The 
following is a step-by-step description which may be used to complete the billing 
analysis. A completed sample of a billing analysis is also included. Although the 
sample reflects water usage, it is equally applicable for gas companies using 
declining block rate design. This billing analysis is not intended for companies 
using a flat rate design. 

a. Usaae Table (Usage by Rate Increment) 

Information needed to complete the usage table should be obtained from 
the meter books or other available usage records. The usage table is 
used to spread total usage into the proper incremental rate step. 

Column No. 1 is the incremental steps in the present or proposed rate 
schedule for which the analysis is being made. Column No. 2 is the 
number of bills in each incremental rate step. Column No. 3 is the total 
gallons used in each incremental rate step. Column Nos. 4, 5, 6, 7, 8, and 
9 are labeled to correspond to the incremental rate steps shown in 
Column No. I and contain the actual number of gallons used in each 
incremental rate step. 
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Example for completing Usage Table is as follows: 

Column No. 1 is incremental rate steps. 

Columns numbered 2 and 3 are completed by using information 
obtained from usage records. 

Columns numbered 4, 5, 6, 7, 8, and 9 are completed by the 
following steps: 

Step 1: 1'' 2,000 gallons minimum bill rate level 
432 Bills 
51 8,400 gallons used 
All bills use 2,000 gallons or less, therefore, all usage 

is recorded in Column 4. 

Step2: Next 3,000 gallons rate level 
1,735 Bills 
4,858,000 gallons used 
1'' 2,000 minimum x 1,735 bills = 3,470,000 gallons - 

record in Column 4. 
Next 3,000 gallons - remainder of water over 2,000 = 

1,388,000 gallons - record in Column 5. 
Next 10,000 gallons rate level 
1,830 Bills 
16,268,700 gallons used 
I" 2,000 minimum x 1,830 bills = 3,660,000 gallons - 

record in Column 4. 
Next 3,000 gallons x 1,830 bills = 5,490,000 gallons - 

record in Column 5. 
Next 10,000 gallons - remainder of water over 3,000 

= 7,118,700 gallons - record in Column 6. 

Step3: 

Step4: Next 25,000 gallons rate level 
650 Bills 
15,275,000 gallons used 
lSt 2,000 minimum x 650 bills = 1,300,000 gallons - 

record in Column 4. 
Next 3,000 gallons x 650 bills = 1,950,000 gallons - 

record in Column 5. 
Next 10,000 gallons x 650 bills = 6,500,000 gallons - 

record in Column 6. 
Next 25,000 gallons - remainder of water over 10,000 

= 5,525,000 gallons - record in Column 7. 

Step5: Over 40,000 gallons rate level 
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153 Bills 
9,975,600 gallons used 
1'' 2,000 minimum x 153 bills = 306,000 gallons - 

record in Column 4. 
Next 3,000 gallons x 153 bills = 459,000 gallons - 

record in Column 5. 
Next 10,000 gallons x 153 bills = 1,530,000 gallons - 

record in Column 6. 
Next 25,000 gallons x 153 bills = 3,825,000 gallons - 

record in Column 7. 
Over 40,000 gallons - remainder of water over 25,000 

= 3,855,600 gallons - record in Column 8. 

Step6: Total each column for transfer to Revenue Table. 

b. Revenue Table (Revenue by Rate Increment) 

The Revenue Table is used to determine the revenue produced from the 
Usage Table. Column No. I is the incremental rate steps in the rate 
schedule for which the analysis is being made. Column No. 2 indicates 
the total number of bills. Column No. 3 is the number of gallons 
accumulated in each rate increment (Totals from Columns 4, 5, 6, 7, and 8 
of the above usage table). Column No. 4 is the rates to be used in 
determining revenue. Column No. 5 contains the revenue produced. 
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V. General Information/Customer Notice 

I )  Filing Requirements: 

a. If the applicant is a corporation, a certified copy of its articles of 
incorporation must be attached to this application. If the articles 
and any amendments thereto have already been filed with the 
Commission in a prior proceeding, it will be sufficient to state that 
fact in the application and refer to the style and case number of the 
prior proceeding. N/A - Milburn is not a corporation. 

b. An original and 10 copies of the completed application should be 
sent to: 

Executive Director 
Kentucky Public Service Commission 
21 1 Sower Boulevard 
Post Office Box 615 
Frankfort, Kentucky 40602 

Telephone: 502 / 564 - 3940 

c. One Copy of the completed application should also be sent at the 
same time to: 

Office of Rate Intervention 
Office of the Attorney General 
1024 Capital Center Drive, Suite 200 
Frankfort, Kentucky 40601-8204 

2) A copy of the customer notice must be filed with this application. Proper 
notice must comply with Section 4 of this regulation. 

3) Copies of this form and the regulation may be obtained from the 
Commission’s Office of Executive Director; or by calling 502 / 564 - 3940. 

4) I have read and completed this application, and to the best of my 
knowledge all the information contained in this application is true and 
correct. 

Signed 

Title 

Date 
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Milburn Water District 
Exhibit Index 

1. Attachment A - Pro Forma Income Statement with Explanations 

2. Proposed Tariff 

3. Customer Notice & Written Statement Verifying Customer Notice Mailed 

4. Depreciation Schedule 

5. Consulting Contract documenting rate case expense of $1,700. 

6. Summary Billing Analysis* 

*Please note that Milburn has included two copies of the 2010 customer billing 
records with this application - one copy for the PSC’s main case file and one 
copy for the PSC’s Rate Design Branch. 





Milburn WD Proforma - Attachment A 

Water Sales 
Other Water Revenues 
Operating Revenues 

201 0 Adjustments Ref Adjusted 
$56,360 ($2,206) A $54,154 
$2,302 ($1,882) B $420 

$58,662 ($4,088) $54,574 
-- - 
Purchased Water 
Fuel for PP - Electric 

Contract Services 
Water Testing 
Transportation Expense 
Insurance Expense 
Miscellaneous Expenses 
~- Tot. Operating ,Expenses ~. 

Depreciation Expense 
Amortization Expense 

- Taxes Other Than Income 

Materials/Su p plies 

Total Operating Expenses 

pGiiiGK 
I I I I 

I 

$1 9,102 ($1,118) C $17,984 
$1,458 $629 D $2,087 
$7,541 ($2,067) E $5,474 

$20,734 $700 F $2 1,434 
$420 0 $420 
$540 - 0 $540 

$1,528 0 $1,528 
$1,369 0 - $1,369 

$52,758 ($1,922) $50,836 
$8,647 0 $8,647 

0 $567 G $1,256 

.I- $1,612 ($1,525) $87 
$63,017 ($2,191) $60,826 

$689 

Revenue Requirement Calculation: 
$ 60,826 - Proforma Operating Expenses 
$ .88 - Divide by 88% Operating Ratio 
$69,121 - Revenue Requirement 
[$54,574) - Less Normalized Operating Revenues 
$ 14,547 - Justified Increase (26.66% increase over normalized revenues) 
$10,915 - Requested Increase of 20% 

Reference Notes: 

A. Normalized Revenues from water sales of $52,369.59 as determined by the billing 
analysis, and forfeited discounts of $1,784.56. It should be noted that the 2010 
revenues included $1,525 of school tax collections remitted to taxing authorities, and 
this amount has also been excluded from expenses in Note F below. 

B. Other Water Revenues were adjusted by $1,882 to remove meter deposits of 
$1,282.50 and other nonrecurring income of $600 from the one-time sale of old trucks. 

C. Purchased Water Expense was adjusted to reflect pro forma expense based on 
normalized water purchases at the current rate of $2.17 per thousand gallons. The 
2010 annual report lists 8,252,000 gallons purchased and 7,181,000 sold. Using this 



same percentage of water sold vs. purchased (87.02%) and the normalized sales of 
7,211,720 normalized gallons, the normalized purchases are 8,287,428 gallons. 

Fuel for PP -Electricity 201 0 
January $210.59 
February $1 99.24 
March $200.55 

D. Fuel for Power Production was adjusted to reflect increased electricity costs. In 
March of 201 I , the District purchased a building (complete with utilities) next door to the 
office manager’s office for its use, and the electricity bills have increased 43.17% for the 
months of April - July of 201 1 versus 2010, as follows: 

201 1 Increase 
$220.70 
$21 1.57 
$253.91 

4-month total 

$140.88 $1 79.1 7 
$86.05 $148.67 
$85.87 $127.35 
$86.17 $ I  16.05 

$398.97 $571.24 43.1 7% 

August 
September 
October 
November 

I 
$1,458.03 

December 
Total I 

--- $86.61 
$90.59 
$87.35 
$87.01 

In addition, for each month of 2011, electric bills have been higher than the 
corresponding month in 2010. Therefore, an adjustment was made to increase the 
2010 expense of $1,458 by 43.17%, to $2,087. 

E. Materials and Supplies Expense was reduced by $2,067 to remove two 
nonrecurring items - a drill costing $717.27 and various inventory items costing 
$1,349.76 - because these two expenditures will not occur annually. 

F. Contract Services Expense was increased by $700 to reflect a monthly increase in 
bookkeeping and office management services. In late May of 2011, this expense 
increased by $100, from $500 to $600 per month. The $600 per month equals $7,200 
per year, and when coupled with a PSC annual report preparation fee of $650 per year, 
results in annual expense of $7,850. In the 2010 test year, this expense totaled $7,150, 
but it should be noted that the 2010 amount included 13 payments of $500 rather than 
the 12 which would normally occur. 

G. Amortization Expense was adjusted by $1,256 for two items - first, to include a 
$567 amortization over three years for rate case consulting expenses of $1,700; and 
second, to include a $689 amortization over three years for the two nonrecurring 
materials and supplies expenditures totaling $2,067. 





Milbum Water District 
(Name of IJtility) 

FOR Entire Service Area 

Community, Town or City 

P.S.C. KY. NO. ~ 

Revised SHEET NO. 1 

CANCELLING P.S.C. KY. NO. 

SHEET NO.- 

CONTENTS -~ --- 

Schedule of Rates 

First 2,000 gallons $18.14 Minimum Bill 
Next 3,000 gallons 7.53 Per 1,000 Gallons 
Next 5,000 gallons 6.89 Per 1,000 Gallons 
Next 10,000 gallons 6.24 Per 1,000 Gallons 
Over 20,000 gallons 5.68 Per 1,000 Gallons 

Non-Recurring Charges 

Reconnection fee 
Tap Fee 

$ 15.00 
$430.00 

DATE OF ISSUE October 25,201 1 
Month / Date / Year 

DATE EFFECTIVESeCember 1,20 1 1 

ISSUED BY 

TITLE Chairman 

BY AUTHORITY OF ORDER OF THE PUBLIC SERVICE COMMISSION 
IN CASE NO. - DATED 





NOTICE 
Milburn Water District has filed an application with the Public Service Commission to increase its rates for 
water service by 20%. Milburn believes its costs justify a larger rate increase than 20%, but has 
requested the lesser increase to reduce the burden upon its customers. Milburn’s last rate increase, 
based on 2003 expenses, became effective in 2005, and its costs have increased since that time. The 
proposed effective date of the change is December 1,201 1. 

Monthlv Rates 
Current: Proposed 
First 2,000 Gallons $1 5.1 I Minimum Bill First 2.000 Gallons $18.14 Minimum Bill 
Next 3,000 Gallons 6.27 Per 1,000 Gallons Next 31000 Gallons 7.53 Per 1,000 Gallons 
Next 5,000 Gallons 5.74 Per 1,000 Gallons Next 5,000 Gallons 6.89 Per 1,000 Gallons 
Next 10,000 Gallons 5.20 Per 1,000 Gallons Next 10,000 Gallons 6.24 Per 1,000 Gallons 
Over 20,000 Gallons 4.73 Per 1,000 Gallons Over 20,000 Gallons 5.68 Per 1,000 Gallons 

MONTHLY MONTHLY BILL AT MONTHLY BILL AT PERCENT INCREASE 
USAGE CURRENT RATE PROPOSED RATE OVERCURRENT 

2,000 $15.11 $18.14 20% 

5,000 $33.92 $40.73 20% 

10,000 $62.62 $75.18 20% 

20,000 $1 14.62 $137.58 20% 

30,000 $161.92 $194.38 20% 

50,000 $256.52 $307.98 20% 

100,000 $493.02 $591.98 20% 

The rates contained in this notice are the rates proposed by Milburn Water District. However, the Public 
Service Commission may order rates to be charged that are higher or lower than the rates proposed in 
this notice. 

Any corporation, association, body politic, or person may request leave to intervene, by motion within 
thirty (30) days after notice of the proposed rate change is given. A motion to intervene shall be in 
writing, shall be submitted to the Executive Director, Public Service Commission, Post Office Box 615, 
Frankfort, KY 40602, and shall set forth the grounds for the motion, including the status and interest of the 
party movant. Copies of the application may be obtained at no charge from the utility office at Milburn 
Water District, 6790 State Route 80E , Arlington, KY 42021. Upon request from an intervenor, the utility 
shall furnish to the intervenor a copy of the application and supporting documents. 

Milburn Water District 



Written Statement of Verification 

I, Mark Vaden, being the Chairman of Milburn Water District, do hereby verify 

that the attached notice of proposed rate increase was mailed to Milburn’s water 

customers on / D /  2 ,2011. 

/ o  - 2 Y - / /  
Date 

Subscribed aJld sworn to before me by Mark Vaden, Chairman of Milburn Water 

My Commission Expires /&! - -- )T 

District on this O a k , ,  ,201 1 

\aa2L Q >L,&*L<5&9b  

Notary Public 
In and for said County and State 
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- Consulting Contract 

This agreement is made this s 2 a y  of @bg/ ,201 1, by and between Kentucky 
Small Utility Consulting, LLC, 8 105 Parkshire Court, Louisville, KY 40220 (hereinafter 
referred to as the “Contractor”), and Milburn Water District, whose address is 6790 State 
Route 80E, Arlington, KY 42021 (hereinafter referred to as “Utility”) for consulting 
services. 

Contractor shall render the services, for the compensation set forth in Attachment 
“A” (hereinafter referred to as the “Services). The Services may be changed only 
by the prior written agreement of the Contractor and the Utility and if changed the 
time of performance shall be adjusted accordingly. Invoices shall be paid by 
Utility without setoff or deduction, upon receipt. Contractor has the option of 
suspending or terminating its performance for non-payment. 

The party with complete authority to act under this contract for Contractor is Jack 
Kaninberg. The 
utility is 

to act under this contract for 

The IJtility shall provide Contractor to full and adequate access to all the 
information needed by Contractor to fulfill the services set out in Attachment A. 
Utility shall give prompt attention to all documentation and requests for 
information and action by Contractor, so as to not delay Contractor’s work. 
When applicable, Contractor shall have access to Utility’s private property to 
complete its work. 

The Contractor shall k i s h  the necessary qualified personnel to complete the 
Services and Contractor represent that is has access to the experience and 
capability necessary to and agrees to perform the Services with reasonable skill 
and diligence. This undertaking does not imply and guarantee a perfect project 
and in the event of failure, Contractor will only be liable to its failure to exercise 
diligence, reasonable care and professional skill. Contractor’s fee under this 
agreement shall be the only measure of damages. There are no other 
representations or warrantees expressed or implied and Utility agrees to hold 
Contractor harmless and indemnify from any claims not related to liability from 
the negligence or will l l  misconduct of Contractor. 

All documents (hard copy or electronic) prepared by Contractor in connection 
with this project are the sole property of Contractor and payment to Contractor 
under Attachment A shall be a condition precedent to use of any documentation 
of Contractor. Contractor cannot guarantee or be liable for the integrity of any 
electronic information. 

Any default in performance caused by a natural catastrophe or civil unrest (force 
majeure) shall not constitute a default of the Contract. 
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This contract shall be interpreted under the laws of the Commonwealth of 
Kentucky and choice of venue shall be Jefferson County. If there is a dispute, 
good faith mediation is required as a condition precedent of either party filing any 
complaint in any court. 

Neither Contractor nor Utility may assign any part of this contract without written 
authority of the other party. 

Contractor agrees to keep all of Utility’s information confidential and at all times 
allow the Utility access and information to make sure its information is being 
protected. 

This Contract and Attachment A, is the entire agreement between the parties and 
it supersedes any and all other oral or prior agreement between them. The 
Contract may be amended only by a written amendment, signed by both parties. 

If any portion of this Contract is deemed unenforceable, it shall not affect the 
remaining portions. The consideration for this Contract is the mutual agreement 
contained herein, which each party by its signature agree is sufficient. 

THE PARTIES EXPRESSLY ACKNOWLEDGE THAT THIS AGREEMENT 
CONTAINS LIMITATION OF LIABILITY PROVISIONS RESTRICTING RIGHT 
FOR RECOVERY OF DAMAGES. 

CONTRACTOR: UTILITY: 
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CONSULTING CONTRACT 
ATTACHMENT “A” 

This Attachment details the Services, contract time, price, forming part of the 
Contract: 

(1) Services: Contractor shall perform the following services: 

TASK A -- SCOPE OF SERVICES - A review using 2010 Public Service 
Commission (,‘PSC’’) Income Statement numbers as the test period, in order to make 
appropriate pro forma adjustments for material, known, and measurable revenue and 
expense changes, and arrive at a recommended revenue increase that meets with the 
Utility’s approval. 

TASK B - SCOPE OF SERVICES - Upon the TJtility’s approval of a proposed 
revenue increase, Contractor will prepare the rate increase application and the 
necessary supporting documentation to justify it, and will forward it to the utility for 
its review, approval, and submittal to the PSC. 

TASK C - SCOPE OF SER.VICES - Between the submittal of the rate 
application and a PSC Final Order on the rate application and proposed revenue 
increase, contractor will remain available to advise the utility in responding to 
requests for information and otherwise supporting the application. 

However, Contractor is not responsible for responding to PSC or other data requests 
or providing testimony in the case unless the Utility and the Contractor so agree after 
the issuance of any data requests or requirements to provide testimony. If the Utility 
and the Contractor agree to make the Contractor responsible, in full or in part, for any 
data requests or testimony, the Utility agrees to pay the Contractor an hourly rate of 
$35 per hour for work responding to data requests, and $50 per hour for testimony 
and any preparation related thereto. 

(2) Contract time 
(a) Commencement date: October 6,201 I 

(b) Estimated Completion Date: September 6,20 12 

(3) 
agree to additional hourly charges as described under Task C above. 

Contract Payment - $1,700 in total, unless the Utility and the Contractor 

TASK A - 50% of Total Contract Amount, or $850, due upon completion of Task 
A as described above. 
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TASK B - Additional 25% (or $425) of Total Contract Amount, due after the 
Commission has deemed the case filed. 

TASK C - Final 25% (or $425) of Total Contract Amount, due upon completion 
of the rate case. 

HAVE SEEN AND AGREED: 
CONTRACTOR: 

/U> 
J kKaninberg 

UTILITY: 
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Milburn WD Billing Analysis Comparison 

1,000 $15.11 $18.14 ___ 20% 
2,000 $15.11 $18.14 20% 
3,000 $21.38 $25.67 20% 
5,000 $33.92 $40.73 20% 

10,000 - $62.62 $75.18 20% 
20% 

- 
20,000 $1 14.62 $137.58 

1 

' 

Current Rates Proposed 
First 2,000 $1 5.1 1 Minimum Bill First 2,000 
Next 3,000 6.27 Per 1,000 gallons Next 3,000 
Next 5,000 5.74 Per 1,000 gallons Next 5,000 

Next 10,000 5.20 Per 1,000 gallons Next1 0,000 
Over 20,000 4.73 Per 1,000 gallons _, Over . 20,000 

- 
- 

Comparison of Rates at 
Different Usage Levels 

Monthly Usage Monthly Bill at Monthly Bill 
Current Rate at Proposed 

Rate 

.___ Rates 
$18.14 Minimum Bill 

7.53 Per 1,000 gallons 
6.89 Per 1,000 gallons 
6.24 Per 1,000 gallons 
5.68 Per 1,000 gallons 

Percent Increase 
Over Current 

30,000 
50,000 
75,000 

100,000 
150,000 

- 
20% 
20% 
20% 
20% 
20% 

$161.92 $194.38 
$256.52 $307.98 
$374.77 $449.98 
$493.02 $591.98 
$729.52 $875.98 



Milburn Water District 201 I ARF Filinq 
Separate Exhibit 

*Milburn has included two copies of the 2010 customer billing records with this 
application - one copy for the PSC’s main case file and one copy for the PSC’s 
Rate Design Branch. 

PUBLIC SERVICE 
COMMISSION 



i --',> 

' /---- 



nI 

K 
d 69 

1? 

U 
9 

0 

0 
69 

9 

u 
? 
c 

d U 

0 

fi3 
8 

D 
'v - 
h 

0 

2 
€43 

0 

m x 
C 
C 
C 
(f 

0 

v3 
5 

c 
n 
d w 

0 

3 
\ 
0 
a, 
W 

m 2 

0 
(D 
N 

m 
3 

\ 
1-1, 

2 
m Y 0 

a. 
.- 

f 
P a 

0 
N 

_. 

0 
". 
3 
w3 

0 
9 
22 

0 

0 
69 

9 

2 

Lii 
d 

0 

8 
fi3 

m 
": 
22 

0 

ff) 
8 

0 

w3 
8 

a 
C 
C 
65 

0 

e3 
x 

m 

-3 N 
w 

m 

0 
r. 
U J  m 

a 
0 
B 1 
-1 
-I 

2! 
k 

IO 
I 

a 
H 

m 
N 

- -- 
(D x 
P 

69 

0 

0 
69 

9 

C 
0 
C w 

0 

2 
-i- o 

0 

w 2 
10 

0 fi3 
-? 

C 
C 
C w 

Io 
8 
69 

C 

C 

0 

0 
b9 
9 

7- r 

U 
v 
.r 

0 
M 
r. T- 

-A 

0 m 
03 
a0 
$? 

0 co 
0 
b ,m 
\ 
-1 

n 

i.r 

ct 
w 
K 
Q 
I 
(I) w 
H 
Q 
7 

W 
N 

. -_ 
0 
c? 
3 
69 

3 

5 

,- m 

e 
01 
r 

a 
i 
3 

0 

69 
8 

il 
5 

C 
C 

C w 

3 

* z 
C 
C 
C 

0 

3 
f3 

(r 
U 

n 
if 
c- 

3 
d 
3 
73 

k 

0 
I.- 

ln 
co 
v- 

0 m m 
Eo 

% 
.a 

m 
.Q 
0 

(11 
c 
m 
S 
Q ar 

.- 

5j 

9.3 
N 



_.. 
W x 
.?- 
€9 

0 

0 
69 

9 

0 

8 
FA 

u3 : 
r- 
!e 

0 

8 
LF) 

In 
P 
54 

0 

8 
614 

0 

69 
2 

0 

0 
ffl 
9 

0 
9 
54 

T- 
F 

tri 
T- 
e4 

0 
2 
T 

\ 
0 m 

CD 
N 

t5 

0 
CD m 
b 
0 
N 

\ -1 
v) 
ui 
LLI 
c3 

2 
0 

a 

!!! 
m 
d 

._ - - 

2 
$ 

0 

8 
wj 

8 
0 w 

2 
2 
0 

69 
2 

0 

LF) 

9 
T- 

0 

LF) 
8 

0 

LF) 
z 
0 

ffl 
2 

0 

b9 
8 

N 

d 
€9 

2 

0 
P) 
N 
r- 

bb 

0 
d 
a, m 
d 

0 
1'- 
T < 0 

I- 
t 

w 
2 
Z z 

3 

-__-- 
Fc 

2 
E 

0 

69 
x 

0 

8 w 

b 

2 
5 

0 

ff3 
x 

P- 

0 
e4 

u? 

0 

w 8 

0 

e4 

$ 
C w 

0 

0 
(ff 

9 

0 

8 
T 
w 

0 
N 
W 
N 

0 
0 
d 
a, 
d 

m 

0 
W 

0, 
d 

f 

'1, 

2 
K w 

u 
0 
m 
m 

m 
m 

_ _  I__ 
W x 
5.- 
e3 

0 

0 
e4 
9 

0 
C 
0 
ffl 

W 
9 
9 
LF) 

0 

ff3 
x 

m 
9 s 
0 

w 2 

0 

b9 
8 

C 
C 
C w 

0 

IO 
LF) 

9 

T 
v- 

2 
w 

0 
W 
b T- 

0 
P- 
O 
W 
? 

0 

m 
W 

T- 

5r 

- .- h 
?! 
t- 
o) 
5 
E 
d 
(u 

0 3 

l-- 

m; m 

- 
Lo 
r, 
=f: 
ff3 

3 

b9 
3 

0 

2 
ffl 

'2 
i 
% 

0 

CA 
2 

3 
? 
r 
f3 

0 
9 
8 

3 

0 
;F, 

c! 

C 
C 
C 
b? 

0 

43 
z 

In 

2 
d 
ff3 

3 
Lo 
Lo m 

'I 
0 
a3 
t. 
d 
a, m 

0 

a3 m m 

2 

\ y: 

u 
!L 

n 
i;: 
Y 
4 
r- m 

- _- 
d 
In 

N FA 
a, 

I 
i: ff3 

0 x 
69 

m 
N ff3 

0 
0 
0 
LF) 

0 

ff3 
2 

0 
0 
0 
69 

0 
0 
0 
(A 

0 
0 
0 w 

0 
0 
0 
wj 

I f  
2 

0 

~ N 

52 
0 In 

"\ 
15 - 
1 %  
w 

0 
iY 
d 
I 

LL: 
I;! 

v m 

___ 
N 
c 

4 
€63 

0 2 
0 
9 s 

N, e 
ff3 

0 

69 
8 

W 

0 
ff3 

In 

0 

e3 
8 

0 

8 
e4 

0 

2 €a 

0 

2 
ff3 

W 

2 
T 
(ff 

0 
In 
In 
N 

h 

r2 
? 

0 

In 

0 m z - - .  
? 

l. 
>- 
I 
3 
c) 
w 
-1 s 
0 .e 

v- 
In 

N 
69 

.r 

0 
0 
0 
69 

C 
C 

5 

T- 

n 
c- 
U 
f) 

0 
0 
0 w 

m 
Lo 
0 
(A 

0 
0 
0 
ffl 

0 
0 
0 
6.3 

C 
C 
C 
ff 

0 
D 
0 
b 9  

m m 
0 
N 
ffl 

0 
N 
0, 
N 

i 

0 
0 

m m 

z 

0 
m m 
0 
% 

1 
5 %  
k g  
3 3  
ELL: 

m m 

UJ 
u! 
? 
ffl 

0 

ff3 
2 

C 
C 
C w 

W 

2 
r 
93 

0 

69 
x 

m 

0 
b3 

P 

C 
C 
C w 

0 

e4 
8 

C 
C 
C 
ff 

0 

&e 
2 

r- 
r 
Icj 

w 
T- 

0 m 
0 v- 

\ 

9 
0 
0 
E.- 

0 
h 
ID m 
d 

J 
", 
- ro 

K w 
c) 

K 
w 
2 
3 
i5 
7- 
d 

_- 
m 

N (4 

c9 
v- 

0 x 
0 

C 
C 
C w 

rr) 
x! 
r- 
U f3 

0 

8 w 
8 
0 
b9 

0 
0 
C w 

0 

ff3 
8 

C 
C 
C e 

0 

2 
A 

- 
N w 

0 
h 
0, 
N 

a 
0 m 
d 
0 m 
N 

,? 
m 
b 

\ z 
u 
UJ 

% 
I- 
LL: 
LLI 

0 a: 
m 

m m 

I. 

co 
? 
r 
m ff3 

0 

8 
FA 

0 

8 
69 

03 
? 
c 
m 
(A 

0 

e4 
8 

T- 

o\ 
0 
ff3 

0 

2 
ff3 

0 

ff3 
2 

0 

2 
e3 

0 

ff3 
x 

t. x m 
69 

0 m 
d 
d 

1 
0 
0 
0 
0 

3 

0 
m 
a3 
LD m 

2 
z 
-I 
LL: 
2 
0 
CT u 
c3 

In 
d 



0 co 
0 
3 

3 

3 

0 
0 
0 ?f3 

3 

3 w 
0 
0 
0 
(A 

0 - 
U 

C 
C 
C 
tF 

3 
3 
3 e 

C 
C 
C ff 

3 
3 
3 e 

@ 

d 
e 

0 
d 
In 
m 

1 
0 
W co 
IC- 
W 

0 
N 

ID 
z 

\ - 
3 
5 
C 
0 

q 
co 
Tf 

m x 
In 
e3 

3 

2 
0 

e3 
8 

n 
? 
2 
73 

0 

0 
e3 

9 

U 
.? 
r- 
A 

0 

e3 
8 

D 

w z 
0 

8 
0 

0 

b9 
8 

r-- 
o! 
n 
d 
(i! 

0 
u) 
b 
W 

\ 
0 
(0 
N 
b 
W 

m 

0 
P 
W 
ID 
W 

t- 

\ 
(I) 

w =  ijj5 

n 3  
(D 
d 

_- 
0 g 

3 

3 
f3 

? 

iz r- 
5 
. 
9 
N n w 

0 x w 
m 
? 
t-- 
iff 

0 

0 
ff? 

9 

0 
9 

C 
C 
C 
65 

0 

69 
2 

2 
.v 
U 
Y 

0 
0 
0 
W 

\ 
0 m m 
IC- 
9 

0 

m 
m 
m 
? 

‘\ 
u l -  
E 
0 
0 
2 
w 
9 
m 
.Q 

- 
eo 
2 
N e3 

2 
i 
f3 

G r- 
e W 

U 
Q 

0 
83 

. 
0 x w 

3 

Y3 

3 
c- 

0 
0 
0 w 

0 

€e 3 

c 
C 
C 
M 

0 

e 2 

U n 
F c 
Y 

0 
0 
a, 
‘;r 

a 
0 
0 
0 m 

k 

0 
0 

(D 
N 

P 
m 

‘.\ 
2; 

- 
!Y 
D 
z 
Q 
v3 
3 
v3 

0 
In 

- -_ 
10 z 
-r 64 

‘3 u x 

IC- 

N 
N 
fff 

N 

13 n 
8 w 

0 

w x 
r- s 
E+ 

0 
0 
0 m 

0 

w 
8 

c 
C 
C 
M 

0 
9 a 
69 

2 
c 
@ 
Y 

i) 
\ 
0 

u) 
3 

0 
0 
IC- 
N 

.\ 

$ 

v) 
K 
u1 
Y 

z w 
2 n 

T 
m 

_. - 
N 

.a. 
63 

x- 
03 

3 

3 
f3 

? 

0 

2 
c/3 

N 

* 
Y, 

r 

xi 

0 

e3 
2 

3 

iff 

-? 
t-- 

0 
0 
0 e? 

0 

b9 
8 

C 
C 
C 
tf: 

0 

e 2 

n 
I’. 
(1: 

cc 

8 

\ 

z 

N 
P- 

(\I 
0 
W 

0 
m 
N 

m 

s v) 

W 
(3 

E 
a3 
2. z z 

a 

Y 
m 
10 

(D 

2 
T- 
64 

0 

0 
e3 

9 

0 

e3 
8 

(D x 
7 
64 

0 

8 
69 

In 

0 
e3 
9 

0 

m 8 

0 

tf) 
2 

0 

8 m 

0 

6f3 
8 

f 
IC^ 

$ 
65 

ji) 
\ 
0 m 
M m 
IN 
P 

0 
b 
N m 

5 I- 
C> 

tr 
z z  
m z  
523 
K 2  
3 2  

W 
In 

__ ._ 

3 
IIj 
N 0 

3 

3 w 
2 

0 x w 

.Q 

N e3 
2 

0 a 
C 
65 

d 

w3 
s 

C 
C 
C 
6G 

0 

69 
8 

C 
C 
C 
ff 

0 

0 
e3 
9 

C 
P 
d 
e 

$ 
\ 
0 
W m 
(D z 

0 
In 
W 
N 
Itl 

‘\ 

;$ Y 

222 3z 
=(I) 

I 

b 
I W  

__ .- 
N 
9 
% 
e3 

3 

N w 
2 

m 

N 64 
z 

m 
D! z 
b 9  

0 

69. 
2 

(D 

e3 
z 
0 

69 
x 

0 

69 
8 

0 

8 
e3 

0 
9 
53 

m 
ni 
T- 

N 
65 

i-J 
0 
IC- m 

IC- 
9 

0 
10 
N 
IC- 
0 
IC 

\ 
cn 
3 

e 
n 
Q 
>- 
Z 

m 
Lo 

. 

LD 

0 ln 69 
N 

3 

> 

0 

8 
69 

D ; 
f, 

0 

8 
64 

D 

f) 

a 
I- 

0 

€Q 
2 

3 

$3 
? 

0 

ff? 
2 

3 

3 
93 

=? 

r 
$ 

0 
0) In 
I’- 

\ 
0 
d 
W 
2 

0 
Lo 
0 
10 

?3 

o r  

033 

E 

$2 
I d  

m 
Lo 

. _. 

(D 

0, N e3 

9 

3 
? 
f, 

0 
9 
2 

D 
? n 
U 
If 

0 x 
e3 

n 
3 
If 
9 

0 

8 
?f3 

D 

iff 

0 

2 
65 

0 

2 
€e 

f n 
oc n 
M 

0 
0, 

% ,  

1 
El 
b 
u3 

8 
(0 
-I. 

\ 
\ 

-J 

cn 
W z 

W 
s 
5 
t- 
(0 

0 m 
% * 

3 z 
@3 

0 
0 
0 
(A 

0 
m 
ID 
m e3 

0 
0 

CA 
a 

W 
0 

e3 
r 

C 
C 
C 
tf: 

0 
0 
0 
tft 

C 
C 
C 
€4 

0 z 
fe 

d 0 

U 
e 

0 m 
N 
u) 

b 
0 
m m 
N 

m m 

0 
N 
W 
F- 
IC 
In 

\ 

15 m 

- 0 ) .  - 
0) 



m x 
N 
69 

3 

3 
j3 

7 

0 

(A 
x 

m x 
9 

0 z 
(A 

IC) 

69 
x 

a 
0 
0 
e? 

0 

0 
€9 

9 

c 
C 
C 
M 

0 

FA 
8 

v 
'L 
-r 

1 

0 
d 
0 
0 

\ 
0 

2 
0 m 

0 
CD 
CI) 
0 
0 m 

'\\ 1 
0) 

U1 
LL 
>. 
K 
K 

tr 

4 
En 
W 

m 
'9 
R! 
69 

3 

3 
f-3 

? 

,-. l-- 

2 
5 

? 
A 
3 
Le 

0 

2 
t4 

N 

w 2 

0 
0 
0 
t4 

0 

M 
x 

C 
C 
C w 

0 

2 
I- 
e3 

? 
I'- 

69 
T- 

0 
c.2 
m 
N 

'?a 

0 

f 
-? IC) 

0 
0 
IC) 

m 

3 

\ 
a 
x c 
m 7 

5 

2 

0 
5 

2 

0 

0 0) 
e3 

u? 

- 
9 
D 
f-3 

0 

(I, 
8 

3 

s, 
Y) 

z 
0 

64 
2 

h 

5 
w3 

0 
0 
0 w 

0 

0 
69 
9 

C 
C 
C e 

0 z 
69 

0 

2 m 
f73 

3 
h 
I'- 
m P 

9 
0 
t- m 
N 
In co 

0 
0 
a, m m 
W 

-\ 

0 .... 
hi .+- c 
9 

d 
al .- 
t 

0 
I- 

0 
0 

% 
e3 

3 

3 
A 

? 

0 
0 
0 
t4 

0 
0 
W m 
69 

C 
C 
C e= 

IC) 
0 

69 
T- 

C 
C 
C 
# 

0 
0 
0 
69 

C 
C 
C 
Y 

0 
0 
0 
€9 

u 

d 
(1 
m 

0 

10 
9 

1 
0 
W r- 
t- 
IC) 
0 

0 
0 
W 
N In 
m '. 

1.2 

5 
0" 
m 

2. c 

13 
0 

Tt 
r- 

_- 
(0 
Ln 
E 
e3 

3 

3 -e 
? 

0 
9 
8 

D 
r! 

f 
0 
C 
C e 

Lo B 
bR 

C 
C 

C # 

0 

8 
# 

C 
C 
C 
Y 

0 

0 fe 
9 

.c 
r 

In 

w 
T 

9 
a 
0 a 
0 
03 
N .e 

0 m 
N 

d 
k 

"\ 
5 

- - 
a, 

c al 
-1 

m 

N 
I- 



_. - 

m 
I< 
m 
N 
69 

-4 m 
N 
b9 

C 
C 
C (F 

a3 r- 
m 
N 
b3 

C 

C 1: 
C 

C 

0 
10 

' Z  

I 
I 

0 
0 
0 
b9 

N m 
0 
N 
b9 

f 0 1 %  In 

13 

- 
l- 

R 
N 
69 

c 
C 
C 
65 

t 

C 

C 

3 

5 

C 

C 

3 
3 

R 
5 

< 
I 
I 
I 

3 

b3 
2 

M 
9 
8 
re, 

0 
I- 
10 
0 

I 
0 
N 
0 
m 
d 
7- 

0 
In 

I- m 

t- 

m 

.- 

Lo 
a! 
T- 
Lo 
69 

c 
0 
C 
6? 

I 

! 
> 
b 

C 

C 

3 
? 
-$ 

C 

E 

3 
3 

R 
5 

1 
I 
< 
1 

3 

2 
b3 

0 m 
0)  
W 

1 
0 
CD 
N 
W 
d m 

31 69 d 
3 
9 
;5 

c 
E 
s 

N 

rg 
69 
2 

0 

cf) 
x 

m 
? 
T- 
cf) 

0 
0 
0 
6? 

0 

69 
2 

C 

C 

0 

0 re, 
9 

c 

: 
f 

0 

I- 
\ 

0 

Lo 
0 
N 

3 

0 
d 
0 
00 
m T- 

\ 

_I 

CD 
u? 
? e3 

3 

j 

0 z 
64 

D 
? 
E! 
f3 

C 
C 
C 
cf 

n 
Y 
D 

C 

C 

0 

2 
re, 

< 
; 
< 
€ 

0 

0 
e3 

4 

0 
t. 
,F- 

0 
2 
8 

0 
Lo 
0 
ln 
N . 
- 
c 

c 
ln 

Q m 

a, 

0. 
0 
I 

.- 

m - - 
2 

Lo m 

0 

0 
b3 

9 

> 

: 
4 

0 

2 
$ 1  

re, 

5 
R 

0 

8 
69 

3 

i9 
2 

0 

8 
ff3 

0 

0 
ff3 

9 

T- 
7 

m 
e T 

0 

\ 

3 
0 

t. 
N 

0 m 
d * 
k 

U 0 -  
0 
0) 
a, 
W 
- - 
m 
ln 
a, 

E, 
7 

(D 
W 

-;-I 
$ 1  

0 x 
e3 



- _  
d. 3 

3 

2 
f3 

C 
C 
C 
65 

-3 
2 

C 
C 
C 
if 

a 
r- 
r- 
;A 

C 

C if 

0 

69 
8 

C 

C 

0 

69 

(I 

C 

e 

0 m 
m m 

z 
0 
m 
6 
0) 

0 
0 

8 m 

1 
C 
0 
cn c 
u 

% 

B 

w 
Q 
c - 

1 

lo, 0 

x e, c 
m r 
2, 

m 
LI) 

t) - - 

m m 

- _- 
7- 
v 

ai 
rg 
69 

3 

5 

0 

w 8 

- - 
d 
e 

E 
C 
cf 

n 

f3 

9 -_ 

C 
C 

5 

3 

3 
a? 
? 

C 

5 

3 
9 
B 

C 
c 
0 

W 

0 
N 

m m 

\ 
0 

W 
z 
m 
T- 

O 
W r- m 

m 

\ c 
0 
Cn c 
U w 

UJ 
m c 

.A+ 

.- 
L 

2 
- 
r 
m 

_. - 
z 

E 
$ 
N 

3 

5 

G 

ii 
D 
? 
1 
e 

C 
C 
C 
cf 

n 
f 
f3 

C 
C 
C 
cf 

3 

2 
a? 

C 
C 
C 
if 

3 
9 
3 

7- 
v 

U 

CI 
v 

0 
0 
tr! 
1 

9 
(0 m m 
(D 

0 

K m 
W 

c 
d) 
W x m 
v) 
C 

- 

e! 
L 

2 
(u 
in 

I_ 

N 
? 
R 
69 

3 

A 
2 

0 
0 
0 m 

N 

m 
69 
a 

C 
C 
C 
€6 

T- 
w3 

C 
C 

5 

0 

0 
g 

C c 
C 
if 

0 

w3 
8 

F. 
'p 

a 
P 
u 

0 
d r- m 

*1, 
0 
N m m 
5? 

0 'E 
le 

d 
in 

- .- 

W 

N 
f# 

c- 
cd 

3 
? 
3 

0 
9 
54 

2 
2 
m 

0 
0 
a w 

N m 
8 

0 
C 

3 

0 

69 
8 

c 
C 
C 
(F 

0 

2 
w3 

U n 
b 

tl 

0 m 
Q) 
p7 

\ 
0 
I- 
O m m 

0 

0 co 
2 

\ L 

I 
m 
c 
0 
ln m 
1 

I 

1 %  

- -. 
m z 
r- 
e3 

3 
? 
2 

0 
9 
53 

a 
? 
E 
f, 

0 

0 
tf3 
9 . 

% 
3 
vf 

a 

D 

b9 
2 

C 
C 
C 
€6 

s 
22 

T. 
U 
U 

ff 
T 

8 

\ 

0 
N 

0 
r- 0 
0 m 

0 
in 
0, 
b- 
F 

\ 
b z 
0 
r 
e, n a 
I: 

m 
m 

0 

8 
N 
cf, 

3 

7 
7 9  

u 

i;j 

2 
K 

n 

?7 
5 9  

? 
c 

0 x w 
T-" 

2 
tff 

0 a 
C w 

0 

e 8 

z 
C 
H 

0 

€9 
2 

0 
C 
t- 
# 

0 
0 
m 
m 

8, 
0 
8 
8 

0 
d 
0 
W 

m 

* 

1 c 
e, 
13 
m 
I- * 
e, 
m x 

- 

- 

N 
s! 

-.. . 
10 

2 
.rt 69 

3 

79 

? 

0 

8 
tff 

n 
2 w 
0 
9 
8 

a 
? 
c 
LFt 

0 

2 
69 

0 

g 
w3 

0 x w 

0 

69 
2 

b 

c 
R 
H 

a 

0 
d- m m 

\ 

? 
0 
0 
0 
In 

x 
3 
W 

Yt 





cs 
0. 
C 
p: 
b5 

0 
0 
0 LA 

0 
0 
0 w 

m 
c? a 
LA 

0 
0 
0 
€6 

0 
0) 
0 
w3 

C 
0 
0 
(13 

0 
0 
0 
LA 

8 
0 
69 

0 
0 
0 
b9 

m 
0 
0 m w 

0 
a3 m w 

3 

8 
0 

0) 

0 

Lo 
!2 

\ 

\ 
G 
2 
0 
% 
-I 

5 

I 

(D 
Ln 
In 
r 
w 

0 

0 
+9 

9 

0 x 
64 

W x 
? e 

0 

8 
(I) 

In 

if3 
x 
0 

4-3 
8 

0 

63 
x 

0 

LA 
8 

0 

if3 
8 

c- 
T- 

ui 
-i 
(A 

0 I.- 
a3 r. 
v) 

0 
N 
pc 
h 
In 

e 

z 
r 
a) 

L 

8 

- .. .- 

0 
N 
2 w 

N 

N 
63 

o! 

b 
v- 

oi 
N 
LA 

m 
2 
In 
if3 

0 

8 
(A s 

T- 
if3 

0 

LA 
2 

0 

if3 
x 

0 

8 
63 

0 

2 
T- e 

0) : 
r) 
(A 

0 m 
0 
IC) 

s m 
N r. 
v) 

0 
a3 
h 
W 
10 

T- 

(I) 

- - .  

01 
8 
0, 

63 

0 

0 63 
9 

0 x 
63 

cn 
2 
LD 
tu 

0 

8 
63 

(D 

(9 
E 

0 

63 
8 

0 

63 
x 
0 

8 
if3 

0 

69 
x 

m 

In e 
z 

0 m r. 
a3 

0 c e 

0 
Ti. 
Ti. m 

- 8 .- m m 
lr 
0 

m 
0 - 

- __ 
(D : 
.r 
63 

0 

8 
b? 

0 x 
LA 

Lo x 
P 

w3 

0 

8 
w3 

In 

b? 
B 
0 

63 
8 

0 

b? 
x 
0 

8 
LA 

3 

b? 
2 

v- 
T- 

uj 
c- 
63 

0 
F2 

L 

0 m 
IJ) 

9 
r 

0 m m 
9 

0 
D 

P 

E 
3 
ln 
al 

-Y 

3 
c 
I- 

_____ 
c\ 
C 

1 6F 
.i. 

3 : e 

C 
C 
C 
tE 

U 

Kt 
i )  

? - 

C 
C 
C 
w 

P - 
e 

C 
C 
C 
tE 

3 : 
f3 

c 
C 
C w 

3 

5 
f3  

cs 
U 
(3: 
(1 w 

3 
3 

3 

2 
n 
n 

2 
d 
U 

c -  

9 
2 

n 
2 
0 

5 
- 

2 

. _- 
2 
$ 
63 

m 
Lz\ 
t2 

0 

8 
63 

a3 
T: m 
In e 

0 

8 
63 

I-- 
9 
T- e 

8 
0 
63 

0 x e3 
0 

0 
63 

9 

0 z 
Y- e 

a3 

m 
63 

2 

0 '  
0, 
N 
In 

L 

5! 
?! 
I- 

0 
N m 
W 

\ - - 
a) c 
0 s 
2 
Q) 

? 
r 



d 

J c 
3 

5 
M 

0 

(A 
x 

Q 

m 
b9 

2 

0 

0 
64 
9 

m 

v3 
9 
T- 

0 

a x 
0 

b9 
8 

0 
0 
0 w 

0 

0 e 
9 

x- 
h 

2 
M 

0 
Lo 
0 

.; 
0 
(D 
d 
(D x 

0 
T- 

? 
d r. 

\2\ a,- 
n n 
m 0 
VI - E 
6 
N 
N T- 

- __ 
d 

N 
e3 
2 

0 x 
33 

0 

64 
x 

w 
? w 
69 

C 
C 
C 
CF! 

F. 

69 
s 

C 
C 
C 
6? 

0 

tl, 
2 

c 
C 
C 
M 

0 

tt3 
8 

P 
I. 
lr 
p. 
ff 

0 

m e 
1 

i? 
7- 
P- 
0 
P- 

o 
h 
3 
R 

\ 
zi 
2 
0 
8 
7 

CQ 
N 
v- 

T 

f 
2 
tl, 

3 

* 5 

0 

e3 
x 

r x 
F J  
a, 

0 
9 
8 

d 

a, 
2 

0 z 
fi4 

0 

8 
cI+ 

0 

e? x 
0 

(A 
x 

t. 
-4 

r? w 
%- 

s? 
(D 
d 

4 
? 
0 
Lo 
Lo 
m 

0 
W 
B m 
Lo 

a , -  

3 

m 
TI 
S 

P 
m 

!!! m 

m 
2 

T- 

2 
N 
tl, 

3 

5 
2 9  

0 

69 
8 

r- g 
N a, 

0 

2 w 
?3 

2 
33 

0 
C 
C 
fE 

0 

(ff 
8 

C 
C 
C w 

0 

8 
e3 

\ 
a 
F. 
F. n 
62 

0 
N 
0 v 

\ 
0 m 
9- m 
2 

2 
2 
m m 

h - a, 
Y 

8 
c c 
a, 
0 c 
5 

8 
.r 

-. .. 

0 

2 rJ e 

3 

3 
f3 

=? 

0 

0 
69 

9 

n 

N v3 
x 

0 

w x 
m m 
52 

C 
C 

0 

8 
tl, 

C 
C 
C 
65 

0 

tl, 
x 

C U 

$ 
ff 

?J cv 

\ 

5: 
b 
b W 
m 

0 
10 

W m 
z: 

\ c 

c E -  
UJ 
i3 
s c m z 
0 
2 

U 
U 

5 w 

3 

3 
f, 

? 

C 
C 
C ff 

9 

2 
r 
Y )  

2 
C 

M 

3 
Y )  

.? 

2 
C 

0 x e 
C 

C 

0 x 
(A 

U 

6 

.r 3 
a 
0 
0 co 
0 In 

0 
W 
V I  
0, 
d 

& 
m 

-J 

m e 
5 a 
3 
T- 



- 
I 

I 
I 

C 
C 

2 

C 

C 

C 

C 

C 

C Y 

7- 
7- 

LI: 
65 T- 

__. . 6 
0 

L+, 
8 

C 

C € 

.- 

I 
I 

! 
4 

0 

69 
x 

C 

C 

la 3 
C 

C 

9 
T 
64 

C 

C 

0 

0 
69 
4 

5 
C 
Y 

0 

f 2 
n 
ry: 
-;I e 

0 
t- 
o, 
W 

A 

0 
0 
b 
n 
m m 

3 
P e 
'3 

0 
E 
Lu s 
K S  
5 2  
9 2  
E O  

t 
v 

-_ 
I ;  

I 

t '  

W 
cr! 
T- 
64 

t 

I 

m 
N 
7 

N 64 

C 

C 

t- 

w 2 

C 

C 

0 

(I, 
2 

C 
C 
C 
ff 

~ 69 N 6 

W 

w 

C 

C 
4 

0 

0 
69 
4 

C 

C 

0 

0 
(I, 

9 

r. 
L- 
U 
0 
Y 

0 

m 8 

1 
0 
0 m m 
UJ 

0 
3 
l;f 

3 
- i$ 
3 
E 

0 

x 

m n 
a * 
7, 

! 

$ 

0 

0 
64 

9 

t 
I 
C 
f 

r- 
ct 
* 

C 
C 
t 

n 
2 
2 9  

C 

C 

3 

5 
R 

C 

C 

3 

5 

T- 
l- 

U 
Y 
r 

9 
\I, 
3 

t 
J 

I 

> 
1 '.\~ 

I 

I 

! 



h 

m 
0, 

k 
v- 

3 

; 
ff 

0 

8 
w? 

. . 
r 
-J 
A 

10 

w? 

": 
c . z 

93 

0 x 
e3 

3 

3 
b 9  

9 

0 

8 w 

0 

t9 
8 

\ 
2 
m 
N 
64 

0 
d. 
N 
.;f 

0 r- 
0 
(D 

N N 

0 m 
a, 
N 
N 

r 

\ 
m 
b 
a 

2 

ob 

-3 



-, 
d 
E 

3 

2 

0 

8 
69 

D 

2 
r- 
F3 

0 

0 
b4 

9 

M 
9 
8 

C 
C 
C e 

0 

69 
2 

C 
C 
C 

0 

8 
bR 

Y 
-c 
U 

W 
I 

0 m m 
7- 

\ 

3 
0 
I'. 

T- .- 
0 
0, -a- 
N T- 

r. 

0 
C 

E 

2 

I 
a, 
a, 
- 

W 

-. 
N 69 
T- 

J 

5 

0 x 
e3 

0 
9 - 
R 

s 
s 

r) 
9 
2 

C 

C 

0 
9 
3 

C 

C 

0 

69 
8 

C 

c 

I: 
01 
N 

\ 
0 

In 
z 
3 

0 
N 
N 
N 
d -a- 

:* E:; 

= F  32 
2 0  

m 

C 

C 

3 

2 

C 

C 

3 

5 
f3 

? 

c 
r 
E 

3 
Lo* 
3 
SJ 

L 
0 
In 

N -a- 

m 
m 

0 m 
m 

-a- 
? 

U 
U 

Q U  7 c  
w o  
L, 
0 3 0  

T- 
T- 

hy 

-. 
P 
69 

0 

c9 z 
> 
! 
! 
+ 

a 
0 
C e 

> 
! 
3 

C 
C 

5 

3 

i 

2 
C 

3 

2 e 

* 
U 
6 
T 

3 
\ 

2 s 
N n 

3 
h * 
3 
N 
in 

c 
0 
ln Y 
0 
m 7 

m E 
I- - - 
5 
d 
.r 



. 

.. . . 

U 
U 
K 
1; 

0 

0 w 
9 

C 

z 

u3 x 
7 
ti4 

C 

C 
ff 

e 

M 

0 
€e 
9 

C 
C 
CI C 

0 

0 
fF, 

9 

C 

C 

0 
9 
8 

? 
.r- 

U 

ff 
2- 

0 
0) 
m 7- 

\ 
8 
P 
0 
4, 

0 

W 
8 
2 

rl 
2 > 
z 
u 
3 

> 

- 

z 

3 
3 

___ 
d 
'? 
% w 

0 

0 
te 
9 

C 
C 

C ff 

d 

D 
N e 
?? 

0 

2 w 
0) 
Ln 
8 

C 
C 

E 
0 

w 2 

C 

C 
ff 

0 z 
tf3 

In s 
T- 
w 

0 
Q 
b 

\ 
0 
b 
Lo 

0) 
v- 

T- 

0 m 
OD 
OD w T- 

5 
I 
G 
5 

L r 

n 

9 
U 



I 
I 
I 
I 

I 
? 
3 

3 

J 
n 

0 

v, 
2 

0 

8 
b4 

, 
) 

0 g 
I 
1 

I 
t 

0 

8 
69 

3 

2 

N z 
In cn 

2 

\ 

m w ,  

0 os 
0 rn 
0 m 

0 W 
r- 

03 
8 

K w 
Y 

2 

4 

0 w 
2 

_._-. -- 
r W x r  2 
€e 

0 0 
9 9 
O 5 ?  w3 

x 0 
69 

C 

C 

l i  
0 

69 
8 

I + 

0 

69 
8 

3 

5 

0 x cn 

3 
? 
2 

3 
69 

0 
d 
% F  

\. 
0 
N 
(D 
r- cn 
d 

0 
43 
0 
d 
0) 
d 

K w 
K 
0 

0 

m 

co 
m 

C 

C 

I 
! 
! 
t 

< 
< 
4 

0 0 
9 9 
0 8  b4 

I 0 

t 69 
! 2 

* C 
9 c 
" 5  b4 

. 

W 

0 9 0 69 1 
0 

8 
b4 

W x 
T- 

€e 

0 x 
b9 

Ln x 
b4 

C 
C 

s 
0 

cn 2 

C 

C 
I C  



-_ 
co : 
f 
€9 

3 

Y) 
2 

0 

0 o 
9 

W 

; 
T- o 

0 

0 
(13 

9 

10 

0 69 
a: 

0 

8 o 
0 

8 
€43 

0 

2 o 

0 z 
€43 

T 
f 

I r j  
m 
7.- 

0 
T- 

T- 

'., 

0 m 
u7 T. 

0 
N 
2 

0 cc 
W 
t- 
Z 
0 
I 
IL! 
3 
3 
W 
d 

L \. \. 

- 
m 
m 
d o 

(9 

P a: 
+9 

c 

2 
(\j 
2 

?! 
r 
In 
FR 

0 

w 2 
t. 
"! 
.;- 
64 

0 
D 

R 

0 

2 
€43 

C 
C 
C 
b5 

0 

0 (13 

9 

(c 
U 
U 

8 
0 
d 
0 r- 

a 
7 
B 
0 

N 

0 
m r- 
0) 

m 

T- 

W a: 
0 
0 
I 
W 
4 
m 
d 

.- 

0 

m # 
2 

3 
? 
3 

0 
9 
B 

3 

m 
Pe 

0 

8 o 
D 
T; 
€43 
v- 

0 

8 
(13 

0 

8 
64 

0 x 
69 

0 

e z 
0 

0 
M 
2 

0 
10 

=f 
a 
0 
10 
d 00 

I-- N 

0 
0 
0 m 
r- 
N 

2 a: 
f) 
z 
Q 
u) 
3 
u) ; 

a, 

d 
c3 o 

d: 

3 

3 
!f9 

? 

0 

M 
8 

4 
d: x 
33 

0 
9 

D 
9 
r 
69 

0 
9 
8 

0 z 
b3 

0 x w 

0 

0 €u 
4 

a 
9 
p: 
K = 

0 
c3 m 
-$ 

\ 
0 

In 
m 
z 

0 
N 
0 m 

T- 

0) 
W 

8 
2 
m 
>- z z 
W 
Y 

m 
10 

~. 

h 

2 
m o 

3 

3 w 
? 

0 

69 
8 

. x 
77 
69 

0 

(13 
s 

m 
9 - 
64 

0 

o 2 

0 

0 
€9 

9 

0 z o 
0 
9 
8 

d 
9: x 
€9 

0 
0 3  B 
0 
N 

h( 

m 

3 

0 
0 
N a, 

N 
T- 

W 

UI 

W a :  
(30 

ig 
20 

0 
cb 

- .-. 

W z 
m €9 

3 

3 
33 

? 

0 

bR 
3 

(D 
9 
8 
b9 

2 
C 
b5 

In 
9 
T- 
€9 

C 
C 

s 
0 

0 o 
9 

C 
C 
C u 

0 

(13 
8 

v 
C 
U 

[I 

0 a 
10 
T- 

\ 
0 
0 
0) 
m - 
z 
r- co 

u) 
W z 

W 
4 
5 
T-- co 



0, : 
N te 

0 

2 
M 

0 x 
b3 

0, 
9 
3 
te 

0 

8 w? 
0 

2 
te 

C 
C 
C €6 

0 

8 
(A 

C 
C 
C 
fF 

0 

8 
b9 

R 
F 
ff 

0 
N 
m m 

\ 
0 
W r- 
m z 

m 
c? 
% 
&e 

0 
0 

E2 

0 
0 
0 
M 

m m 
3 
(A 

C 
0 
0 
(A 

W 
W 

c13 
r- 

C 
C 
C €6 

0 
0 
0 
te 

C 
C 
C 
fF 

0 
0 

8 

t- o 
lr 
ff 

0 
N r- 
W 

\ 
0 
W m 
N 
T- 

0 
d 
(D 

2 
, 

(0 

5 
P 
5 

(0 

z 
Y 

m 
CD 

_. 

f 2 
&? 

0 
9 
2- 

0 

0 
M 

9 

c 
'i: s 
M 

C 
C 
C e 

2 
tff 

C 
C 

5; 

0 

8 
(ff 

C 
C 
C 
ff 

0 
9 
8 

5 
8 

0 m 
00 
m 

\ 
8 m 
m Lo 

0 
0 
O 
Lo 

T- 

ln e 
0 

E 
-I 

0 
5 
C 
0 7 

2 
W 

1 

~ 

si 
a b 

3 

3 
33 

C 
C 

s 

3 

0 33 

I! . 
C 

C 

h 
'? 
r 
rj3 

C 

s 
0 
9 
8 

C 

C 

0 

ff3 
8 

P 

U 
c( 

0 

0 
8 
7 

\ 
0 
N 
N 
r- I.- m 

0 
W 
(D 
W 
W m 

w 
VI 
to w 3  zc 

1211: 
U W  no 

XJ 
D 

~ 

10 

VI 
rn M 
"! 

3 
? 
U 

C 
C 
C w 

D x 
U 
$2- 

C 
C 
C 
(f: 

? 2 
C 
C 

s 
0 
9 
8 

C 

C 

0 

€9 
z 

r 

;T 

0 
0 m 
0 

\ 
0 m 
W 0 
a0 

m 

0 m w 
P) 
0 
4) 

(I) 

w 
U 
2- r 

ti 

5 
3) 
D 

m 
7 
m €43 

2 

2 
Y3 

0 a 
0 
M 

m 
"! 
% 
L9 

C 
C 
C e 

0 

bo 

9 
f 

C 
C 
C €6 

0 

2 
e3 

C 
C 
C 
ff 

0 

e3 
8 

0 

r 
w 

0 
0 
0) 
d 

3 
0 

W 
N 
(D m 

m 

0 m 
t. 
b. 
In 
0 

x c 

3 
x 
0 
D 
0 m 

P 
b. 

0 

0 
'? 
f 

3 

3 
f3 

,-. T- 

m 
M 
0 

r- 

d Y) 

C 
C 
C w - 

€9 

C 
C 
C e- 

0 

2 
to 

C 
C 

s 

0 
9 
2: 

P 
0 
0 
P 
v 

0 

In 
x 
1 
0 
r- 
m m 
In 
In 

z 
8 
d 
F- 

v) 

Y 
K 
a, 7 

E r 
3 
3 

5 

P 



P 
W 

m 
(A 

r- 

3 

3 
FJ 

0 
0 

0 (A 

% 
2 
- 

0 
0 
0 
e3 

u n 
3 
ff 

0 
0 
0 (A 

3 
3 
3 m 

0 
0 
0 (A 

D 
0 
0 
IR 

N 
b 
0 m 
(A 

\ 
0 

t 
0 
-f 
Tr m 

6 

0 
10 
0, 
W 
0 
W 

2 
s 

? 

m - - 
m 
0 

0 

? 

..-. 

N 

m m 
69 

"! 

3 

3 
FJ 

0 

3 
69 

U ; 
FJ 

0 

0 
e3 

9 . 
? 
2 

0 x 
f# 

3 
3 
3 m 

0 z 
e3 

0 

If3 
x 

10 x m 
CR 

0 
II) 
h 

;; 
0 
r- 
N a3 
a3 
t- 

0 
N 
10 m 
m r- 

L 

u7 2 

C 
C 

3 

oc 

. 

__ __ 
t 

N e3 
z 

5 

3 
3 9  

3 

b 
9 
e T- 

r . -. 
N w 

0 
9 
B 

r- 
a! 
$3 

0 z w 

0 
9 
% 

C 
C 
C 
(A 

0 
9 
8 

C 
0. 

E 
(A 

0 
a0 
W m 

\* 

s 
00 
m 
Lo m 

0 
W 

d in 
0 

m 

c c 
a, 
E 
8 
Y 

a . 

.-. --. 

m 
2 
N M 

3 

3 m 
=? 

0 z w 

W 

b N bR 

p! 

0 
0 
0 
(A 

0 

2 
e3 

C 
C 

E 

0 
9 
6: 

C 
C 
C e 

0 
9 
B 

3 
3 v 

8 
a7 m 

\ 
0 
W cn 
U 
N 
N 

0 
? 
v- 
N N 

.- 5 - - .- 
0 
a, 
C c 
S 
0 -2 

? 

In z 
m 03 

3 

3 
R 
=I 

0 

0 
M 

9 

10 

In 
?l 
m 

=? 

0 

0 
ff3 

9 

N 
9 
r 
b-3 

C 
0 

s 
0 
9 
B 

C 
C 
C w 

0 
9 
% 

c: e 
2 €e 

0 

w E: 

1 
0 
0 
m 
m w 
v- 

0 m 
N 
(0 
N 
9- 

- - 
a, 
2 
a, 
CY 
0 u 
.- 

3 
0 

____ 
(D 
c? 
d 
e? 

0 
9 
8 

G 
cq 
e? p. 

W 

In €e 
a 

0 

0 
69 

9 

m 
cq 
2- 
€9 

0 
9 
t2 

0 

0 
€9 

9 

0 

0 w 
9 

0 

0 tQ 
9 

tn 

v) w 
a 

0 
W cn 
m 

\ 
0 m 
r- m 
Kl 

0 
N 

0 
N 

3 

C 
(u v x m 
cn 
c 
> 

- 
"_ 

2 
?3 
4 

- 
N 

2 
N ie 

0 

69 
x 
0 

0 
69 
9 

N 

2 
N 
69 

0 z w 
r z 
tQ 

0 

2 
ff3 

0 
9 w 
0 

0 
w 
9 

0 

e3 
8 

- 
2 
N 
€6 

0 m 
03 
N 

0 

N m 
W 

55: 

0 
In 
In 

N 
W 
m 

C m > 
3 
v) 
In 
a, 

.- - - 

E 
1 

d 
P 

(D : 
v- 
ff3 

0 

2 
m 

0 
0 
0 e3 

W x 
r- 
b-9 

C 
C 
C VI: 

v) 

d: 
8 

C v 

0 

2 
03 

C 
C 
C cc 

0 

cc)- 
3 

r 
c 

U 
ff 
r 

0 
N 
0, v- 

\ 
0 
Lo 
cn Lo 

E 

0 m 
0 
8 
v- 

A 
D (3 

I) 

uf 
a, _I 

m 

D 
D 



C 
C 
C 
# 

\I 
Y - 
R 

C 

C 

3 

2 
I, 

C 

C 

0 z 
(A 

I 
1 
I 

I 

0 

(D 
? 

\ 
0 
0 
N 
0 
N 

m 

0 
1 . -  W 

I' 
1 %  

I 

c 
€9 

0 
? - 
f3 

W 

2 
T- 
(A -1 I 69 

2 
3 

0 x 
€e 

3 
2 
0 x 
€9 

3 

3 A 
? 

0 

w 

0 x 
€e 

r 
t 

U 
W 
T- 

3 
\ 

0 

r- m 
rs 

m 

0 
0.3 
P- m 
d- 

> 
a, c 
m r 
0 - x 
m 
0 
- 

m m 

0 2 

0 
d. 

69 

> 
I: 
a 

0 

8 
69 

3 

e 
? - 

0 x 
ff3 

3 

3 
33 
? 

0 
9 s 

0 
9 
52 

cc 
U z 
W 

0 m 
r- r- 

\ 
52 m m 
0 
N 

0 
N m m 
m 'i- 

B 
ij 

s 

x? 
t 
> I- 

d m 

0 z 
69 

___- 
r- 
a! 
5 

3 

2 
33 

? 

0 

ti3 
x 

P- 
o! 
5 

C 
C 
C 
W 

m 
2 
€9 

C 

C 

0 
9 
% 

< 
C 
f 

0 

69 
x 

I 

, 

0 
d m 
rs . 
52 
W r- m 

0 
I. 
0 
m m 

L 

I rn 
c 
0 
m 
m 7 

W 
0, 

m 
2 m 
w 

0 

€e 
8 

! 
3 

0 

8 
€9 

3 

5 

0 

w 8 

3 z 
I, 

C 
C 
C 
ff 

0 
9 
52 

-7 
r 

t! 

0 
W M 
\ 
0 m m 
N 
aJ 

0 r- 
0 
0 co 

B 
ii 
2 

72 
e, 
R 
3 
I 

co 
br 

\ 
0 
nt 
W m Ip 

l-- 

0 m 
N 
? 
T- 

L 
e, 

0 
e 
I! 

s 
V w g 
8 

4 

'0 
b 

W 
22 

0 

rs 
W 

8 

r 
a, 
0 m 
I- 
- $ 
m 
I 

N 
0 
T- 

- 
p3 

d (A 

s 

C c 
C w 

C 

5 

i 

C 

C 

> 
! 
f 

< < 

I 

3 

i 

? 

's 

0 
D 

3 xl 
-3 
9 
I) n 

3 

3 
3 n 

5 

u m 

? 
0 
3. m n 

5! 
m 

.. _- 

3 

3 
Y) 

=? 

0 
9 
52 



u) 

W 64 
: 

3 z 
€e 

0 

8 
64 

W 

m 
fff 
z 
0 
9 
4 

W 

64 
2 

0 

8 
tn 

0 

?e 8 

0 x 
M 

0 

2 
64 

0 
T- cu m 
M 

E 
T 
0 r- r- r- m 
c) 

0 
W 
0 m m m 

U 
a, ly; 

- 
!2 
3 
- i? 

.2 

-z 
i= 
ffl 

0 
T. 
0 
m 69 

0 

2 
b 9  

0 

64 
2 

0 

0 
W fff 

T: 

0 

e3 
2 

a3 z 
64 

0 

CF) 
8 

0 

0 
(A 

9 

0 

0 
69 

9 

0 

8 
€43 

N 

N 
M 

2 

0 
In 
N 

\ 
0 m 
0 
W 
2 

8 
s? 
b 
7.- 

). 

6 
2 
9 

S 

P 

T- 
T-- 
5- 

? 
F; 
b¶ 

3 
3. 
3 

a 
C 

Ei 

In 
9 
K 
M 

C 
C 
C w 

N 

€9 
2 

e e 
e e 

0 

0 
FA 
9 

s 
C 
ff 

0 z 
64 

Q 

F 

0 
(D 

3 
\ 
0 N 
0 
-3 
P 

0 
W 
d 
0 
d 

c 
a, - - 
2 
a, u 
x 0 
-Y 

2 
T- 

N 

2 
d fff 

3 
? 
2 

0 
9 
8 

N 
o! 

J 
0 

w 8 
u3 
N 
r- 
(A 

C 
0 

s 
0 
9 z 

C 
C 
C 
fE 

0 

64 
8 

b 
U 
r 

2 

0 
In rn 
W 

\ 
0 
W a3 
In 
W 
N 

s s 
10 
N 

C 
0 
I g 
U w 

m 
.c cn 
cc) 

2 

z- 
T- 

W : 
z- 
€+3 

0 

e3 
z 
0 

e3 
8 

W x 
T 
b9 

0 

2 
e? 

In 

0 
64 
'ct: 

0 

3 
ff3 

0 

0 
8 

0 

C w 
c 

0 

8 
€43 

Y- 
? 

IC 
M 
c- 

0 
6 
T- 

\' 

0 r- 
0 
d 
m - 
0 
W 
a, 
Cn m v- 

i? 
F 
5 
a, 

I 

ul 

"_ 
L 

tij 

T- 
Y- 



d 
N T- 

W 

2 
z 

C 
C 
C 
ff 

> 

i 
3 

C 

C 

? 
2 

< < 
c 
t 

3 
? 
2 

C 
C 
C 
ff 

0 

3 
w3 

9 

v 
v 

U 

e 

0 
Iz- 
f 

\ 
0 
W 
0 
m 
m 

3 
W 
Iz- m 

.b4 l z  
e 
ru 
a, 
IT 

z 

- 

$ 

W 

r3 
"! s €e 

> 
1 s 

F: 

f 
r 
7- 

3 

ri 
R 

C 

C 

3 

A 

? 
r- 

C 

< 
f 

0 

0 b9 
9 

I 

0 
9 
$ 

0 
W 

0 
0 

0, 
N 
m 

m 

a, 

In 
m 
0 

m" 
s 
2 
0 

W 
N T- 

$1 # P 

b 

0 
9 

> 

i 
P 

0 

8 
FA 

3 

5 

0 
C 

4 

3 

3 
f+ 

? 

C 

C 

0 z 
€e 

U 

6 

e 
0 
7- 

\ 
0 
N m 
W m T- 

O 

m s 
5 

I J Y  
a, 
a 
a, 
a, a 

- 

3 .- - - 
5 
3 
T- 

. ._ 

co 
k 
G; 
€e 

F: 

Y 

U 
C 

C 

C 
ci , 

1 

C 

c 
f 

I 
? 
3 

In 
u3 
t 

In a: 
Ri 
# 

0 

B 
e3 

0 

E! 
# 

0 
9 
52 

0 
9 
0 
# 

0 

cff 
x 

0 

B 
# 

U 
U 
C f  
0 
ff 

0 z 

0 
Lo m m 
0 
W 

E 
In m m m 

;ii 
0 

u) r 
E 

3 

s 
E > - 

r 

T- 
m 

m 
"! 
F 
m 
FA 

> 
? 
3 

C 
C 
C 
ff 

0 
? - 
9 
R 

C 

C 

U 
? 
2 

C 

c 

0 

0 b9 
9 

1 
1 

I 
1 

0 

0 
e3 

9 

0 
W 
-Q 

0 
In 

W 
t- 
? 

0 
r. 
r. 
In r- 

T 

t 
6 
0 

a, 
0 7 

m 
2 

- 
m 
2 
N # 

C 
C 
C 
ff 

C 

C 

I 

b 

C 

C 

I 
? 
3 

I 
1 
I 
I 

3 

2 

I) n 
U < 
3 
N 
?-J 

cn Lo 
m 

0 
p.- 
0 
Lo m m 

In u) 
a, s m 

2 
m 

m 
U c 

Q, 
N T- 

-_ 
0) 

2 
N €e 

> 
5 

C 
C 
C 
ff 

I? 
3 
3 
I) 

C 

C 

m 
u? 
52 

C 

C 
t 

0 

0 m 
9 

f 
I 
I 
I 

0 

B 
€f3 

0 
0 
b 

0 
In 

Q, m 
8 

0 
10 
r. 
Iz- 
(3 
m 

C z 
.c In .- n 
E 
K 
m z 
m 
m T- 

W 

2 
G 

0 

B 
FA 

C 
C 
C 
ff 

I 

1 
1 

C 

C 

> 
5 

C 

C 

3 

R 
5 

I 

I 

3 n 
N r 

\ 
3 
0 
3 
N 
Lo 

0 
0 

0 m 
m 

.E 

-1 
3 
3 
.c 
0 
K 
.- 

i% 
T- 



0 

Z l  69 

J 
? 
3 

M 

m 
69 

: 
3 
-7 
0 .  * 
\ 
0 m 
N 
W 
m 

0 
0 * m co 

C 
0 
m 

m 
I 
> 
U 

"- 
L L- 

2 

2 
m 

I 



I 
O I  2 
(I, 

0 z 
(I, 

OI 
N 
3 
5 

In s 
(I, 

N 

4 
(I, 

0 

2 
(I, 

s i  0 
(I, 

0 

2 
(I, 

v- 
(I, 

W 

2 
I-+ 

d 6R. 
*! 

0 
W 
c3 
W 
In 
(0 





(0 
Ln 
$ 
€e 

3 

93 
5 

0 x w 

ul 
2 ‘? w 

0 

0 m 
ln 

0 
61, 

f 

C 
C 
C w 

0 

w 2 

C 

C 

0 

2 
fF3 

Y- 
T- 

$ 
ff 

0 
N z 
\ 

9 
0 
0 
0 
N 

u) x 
v- 
69 

3 

2 

0 

61, 
8 

w 
n 
r- 
f3 

0 

8 €e 
n 

3 
w3 

T 

C 
C 

0 

2 e3 

C 
C 
C 
# 

0 

0 
€33 

9 

7- 
F 

lr 
w 
-r 

0 
Fc 
2 
\ 
0 
W m 
In m 
U 

0 a 
0 
d m 
d 

1: 
3 
c3 
UJ 
6 
3 

(D 

2 
7- 

61, 

3 

5 

0 

CA 
x 

D 
0 
2 
A 

C 
C 
C 
If 

n 
2 
f3 

C 

C 

0 z 
61, 

C 
C 
C 
ti 

0 

f3 
z 

Y-  
-r 
U 

ff 
-r 

0 m 
2 
\ 
0 m 
a0 
N 
P 

0 

% 
7- 
P 

Z Z  
t Q  
$ 2  
r K j  

G 

43 o w  

_. - 
m 
2 m 
tf3 

D n 
rl 
f3 

m 
ln 
d w 

m 
2 
(3 
61, 

C 
C 
C 
Y 

b 

2 
64 

C 
C 
C 
CI 

0 

0 
b9 

9 

C 

C 
ti 

0 

64 
2 

C 

a 
ff 

0 
0 
N T 
0 a 
N 
W 1s 

10 

_.__ 

b 

2 
E 

0 x 
w3 

0 

61, 
8 

b 

2 
7 

69 

0 

8 
b4 

m 

69 
2 

0 

w3 
x 

0 

0 
6Ff 

9 

C 
C 
C 
ff 

14 0 
te 

3 
c m 

0 
N 
d : 
0 In 

1 %  

1 -  

2 
z 
0 

N 

(0 

b- 
5 
3 
3 
J 

b 
N 

7 
0 

m 
In 
c) 

2 

0 

O 
In 
(3 

m 
T- 

J 
-1 

2 T 
>- 
(r 
6 
I 

ln 
N 

rK w m 

m 
0 
0 
6 

8 

-2 







__ .- 
gr! 
rd 
U e 

m : 
69 

0 

0 w 
9 

gr! 

$ 
0 

(A 
z 

co 
v- 
P w 

0 

0 e 
9 

0 

64 
8 

0 

0 
(A 

9 

0 
9 

N 

m 
e3 
a 

0 

,In 
3 

0 
0 m r- 
N 

0 
W 

N 
c3 

v) 

Y 
v) 
0 
I 

z 

z_ 
?I 

\ 

Y 

m , w  

.- .?- 
v! 
k 
tc) 

0 
0 
0 
64 

C 

0 
cf, 

0 

- 
4 

U 
f-3 

0 

2 
e3 

3 

3 
b9 

0 

2 w 

0 

69 
8 

0 

8 e 

3 

3 
f) 

? 

T- 

2 
N w 

0 
v) 
m 

\ 
3 
3 e 
2 

3 
XI 
h- m 
? 

n 
3 
$ 
-1 
3 

2 
N 

5 

b 
N 
m 
rt tc) 

0 

64 
8 

C 
9 z 

. x 
% 

0 

8 
69 

lo 
"! 
r 
b9 

0 

8 w 

0 

0 w 
9 

0 

0 
cf, 

9 

3 z 
b9 

U 
U 
U 

tr: 
l- 

0 

0 
(A 

9 

C 

w 2 

W : 
r- 
64 

0 
C 
C 
tE 

m 

cf) 
x 

C 
C 

s 
0 

(A 
8 

0 x w 

0 

2 
fB 

r 
c- 
U 

tl: 
r 

0 
U 
(D 

\ 
0 
b 

W 
W 
m 

0 m 
0 
W 
(D 

(r u 
I u 
3 
m 

E u m 

W 
W 

Y- 

Zi 
d w 

0 
rk 
W 

T- 

\ 
3 

? 
3 
N 

r- 

0 
0 m 
? 

v) w z 

- -- 
a 
a! 
T- 

iu e3 

0 

0 
(A 

9 

0 

0 
(A 

9 

(D 
a! - 
2 

0 

0 
6e 
9 

;3 
0 
€e 

0 

8 
(A 

0 

2 
(A 

0 x 
(ff 

0 lg 
l(f, 

N 
? 
T 
N 
(A 

0 m m 

\ 
0 
N cn m 
Q 
W 

~ 

B 
% 

0 

W 

v) 

w 
L 

5 

2 
4 
m 

__ 
T 

U 

x 
bF 

0 x 
bF, 

C s 
# 

c. 

2 
N 
bR 

0 
0 
C 
€E * 

(A 
2 

c c 
C 
ff 

0 

8 
cf) 

0 
0 
0 w 

s 
8 

t- 
P- 

2 
b5 

0 

r) 
9; 

\ 
3 m 
IC. ro 
Lo 

m 

0 m 
c-l 
d' a 
10 

(I) 
k- 
t- 
Q 

z 
1 

3 

2 
T r- 

.- 

W 

2 
ci; 

0 

2 
(ff 

0 

8 e 

D 

2 
c 
f) 

0 

9, 
fa 

In x 
b9 

0 z 
e3 

0 

(A 
2 

0 

8 
69 

3 

2 
b9 

T 
-r 
uj 
T 
cf, 

0 
W r- 

\ 

3 n 
3 n 
U * 

3 m 
m r 
N 
d' 

- - 
a, 

c 
W -1 

m 

N, 





. -  

5 
0 

2 

0 

0 
b9 

9 

G 
C 
CC u- 
tF 
r - 

In 
o! 
2 

0 

8 
69 

0 
9 
r w 

0 

0 
64 
9 

0 

e3 z 
C 
C 
C 
ffi 

0 
9 
3 

In 

2 
J 

0 
3 
N h 

1 
0 m 
0) 
0 
Q 

0 m 
r. 
0 
m 

7. c 

3 

3 

2 

E m c 

N 

_ _  .- 
m 
2 
N 
64 

m x 
clf 

i; 
e 
n 

In x u 
A 

0 

(A 
8 

B 
5 
T 9  

0 
9 
8 

0 

0 
tF, 

9 

0 
C 
C 
&e 

0 

f) 
9 

m : 
N 
69 

3 
N < 
7l 

0 m 
P- 
10 
0 r 

z 
z 
0 
N 

- - 
a, 
f 
a, 

m 
a, a 
a, x 

e 

n 

Y 

0, 

5 

- .. 
(D z 
T- 

ffl 

0 

8 
69 

C 
C 
C ffi 

(D .n 
2 e 

0 

8 
69 

n 

2 
f) 

0 

0 
e3 
9 

3 z 
b3 

0 

0 
ffl 
9 

2 
A 

T- 
r- 

P 
e3 

3 
\ 
O 
D) 
P- 10 
d 

0 
t- 
LD 
.;t 

m 

7. 

m 
E 
5 
7. 

n 
- 
I 

3 n 

__ 
P- 

2 
7.- 
(A 

0 

8 
(A 

0 

2 
69 

r- x 
P 

B 

0 

(A 
x 

h 

0 
b9 

"-, 

0 

0 
(A 

9 

0 

0 
69 
9 

0 

0 
69 

9 

0 

3 e 
9 

0 
9 
9 
69 

0 
N 

3 
1 
0 
10 
m 
d co 

0 m m 
9 

zj 
2 

r" 

3 
r 
a, 
R 

m 

7 

- 
03 
Y 

9 
(A 

0 

0 
e3 

9 

0 

ff3 
8 

co 
T- 

m' 
N 
b3 

0 

0 
e3 
9 

m 

fB 
s 
0 

# 
x 

0 

clf 

0 

2 w 

0 

a, 
9 

10 

2 

: '  

J 

N 
(A 

0 

0 
0 

O 
r 
Y- 

-i 

0 
(D 

t- m 

-i 

L 
a, 

Lfj 
c 

m 
7 

2 

(D m 

____ 
0 

U 

ff 

0 

2 
b9 

C 

C 

N 
'L! 
3 
19 

C 
C 
C 
ffi 

d. 
? 
r- 
#3 

C 
C 
C 
ff 

3 

33 
3 

C 

C 

0 

f3 
9 

Eo r. 
.J n w 

3 n 
n r- 

1 
3 

3 
0 x 

0 

m 
0 
N 

I; 

ki 

5 
5 
2 

a 

d n 
? 

0 $ 

0 
9 Ez 

C 
C 
C w 

0 
? . x 
0 

8 
b9 . 

? - 
f) 

0 x 
ff3 

3 

a, 
z 
0 
C 

E2 

0 

f3 
7 

m 
m (9 

f 

3 * 
? 

\ 
0 

m 
0 
N 

8 

8 

8 
W 
N 

e 
0 
0 

0 u 
W 

- 
r 
L 

2 
m 
f 

r 

?; 

2 
D * 
A 

0 
0 
0 
69 

4 
v- 
b9 

0 
0 
0 
€e 

0 
0 
0 
69 

0 

0 w 
a 

0 
0 
3 
A 

k 
t. 
Q 
Q 
If3 

O m 
UJ 
m 

?, 
0 

d 
0 
3 
m 

0 
In 
10 r. m 
N 

73 
0 
0 cn 
a, 
u 
- - 
- - 
2 
2 
ffl 

? I  



\ 

W 

In 
Ln 

E 

3 

5 

0 

8 w 

D 

2 
n 

o 
0 
0 w 

fE 
5 
If 

C 
C 
C 
ff 

3 

3 
A 

? 

C 
C 
C 

0 

2 
t9 

T- 
T- 

lo‘ 
7 
if3 

0 m 
2 
\ 
0 

t. 
52 
? 

0 
N 
W m m 
7 

- - 
a, 

- i3 - 
0 
I 
0, 12 

- 
r. 

m 
€9 

2 

3 
3 
3 
A 

0 

8 
b9 

. 
? 
77 
L e  

0 

8 w 
m 
9 
T- 

If3 

0 
0 
0 w 

0 

0 
If3 

9 

e 
C 
C 
(f 

0 

8 
€9 

0 

U 

W 

0 
W m 
M 

W 

0 
W 
t. 
0 
m 
W 

U m 
p_ > 
m z 
c 
a, 

.- .- 

m 

M 

-___ 
W x 
m 
€9 

3 

5 

0 

8 w 

0 

9 
If 

. 

C 
C 
c w 

n 
3 
kJ 
- 

C 
C 
C w 

3 

3 
FJ 

? 

C 

C 

0 

8 
If3 

r 
U 
fa 

; 
J 
0 
N 

0 
N 
m 

0 
T- 
m 
2 

I 

b I; 1: 
I? 
\ 

s 
a, 

I 

.- 
L 

2 
0” n 
m 0 

- 
N 

W 64 

9 
v- 

rt 

If 
? 

0 

8 e 

U 

O 
A 

? 
P 

0 

0 w 
4 

n 
Lo 
T- 

yf 

0 
0 
0 w 

0 

8 
b9 

C 
C 
C 
ff 

0 x 
€9 

a 
(r 

ff 

0 

m 3 

J 
0 
W 
IC- 
W m 

0 
N 

N 
8 

~ c W 

2 

- __ 
W 

2 z 

> 
5 

m 
0 
b9 

9 

3 

9 
I 

0 

€8 
8 

3 
5 

0 
0 
0 w 

3 
’1 
b 

C 
C 
C 
ff 

3 

3 
A 

? 

.? 
7 

U 

W 
r 

0 
2 
\ 
0 
a3 
0 
a3 
Lo 

0 

I- m 
d 

u, 

z 
e 
a, 
0 
Q 

L 

b 

IC z 
-7 

z 
m 
-4. 
€9 

3 

; 
If 

0 

€9 
8 

? 
I;F, 
n: 

0 

8 w 
D 
‘ct: 
m r 

0 
0 
0 w 

0 

8 
b9 

e 
C 
C 
ff 

0 

8 
b9 

a 
U 
ff 

0 

8 

i 
0 
m 
W 
N m 

0 

5 
N 

T- 

2 
N 
€9 

3 

; 
13 

0 

8 
€9 

r- 

2 
-4 
A 

0 

8 w 
\ 
% 

ci 
ie 

0 

w 8 

0 

0 
fJ3 
9 

C 
C 
C 
ff 

0 

8 ce 

d 
U 
U 

ff 

0 m 
W 
0 

\ 
0 m 
f 
m m 

0 
t. 

m 

m 
0 

___ _. 
W 

2 - 
€9 

3 
? z 

0 

8 
fJ3 

D 
? 
2 
e 

0 

8 
b9 

n : 
A 

0 

w 8 

0 

m z 
a 
C 
C w 

0 

€9 
8 

T- 
T. 

tr 
Y 

0 
I- 

.; 
z 
d 
pc -7 

Y- 

O z 
5 .-- 

I I n  
a, 

-3 

0 i T- 

m 

m 
e3 
2 

- 
3 

R 
6 

0 

w 8 

c)  

$ 
If 

C c 
C 
fE 

3 

e ? 

C 
C 
C w 

3 

3 
ie 

? 

C 

C 

0 

€9 
8 

r 

(I 

b 

0 
N m m 

\. 
5: 
00 
m 
m 
T- 

O m 
0 
8 .?- 

x e 
9 

__ - 
W 

N 
69 

u? 
7 

n 
7 
3 
A 

0 

8 w 

P 
? 
P 

N If3 

0 
C 
C w 

8 
0 
(I, 

C 
C 
C 
f+ 

0 

0 
€9 

9 

C 
C 
C 
61 

0 

€9 
8 

P 

f 

5i 
N 

0 
W m 
I- 
d- 

0 
N 
d) 
d 
d 

c 
a, - - 
2 
8 
=s 0 
-7 

N 
T- 
c- 

W 
(4 
f i  w 

3 

5 

0 

8 w 

D 

c)  
If 

9 
c 

C 
C 
C w 

2 - 
If 

C 
C 
C 
Y 

3 

3 
A 

? 

C 

C 

0 

m 2 

U 

: 
0 
W 
d m 

\ 
0 
N 

IC- 
N 

2 

0 
W m m 
W 
N 

c 
0 
In 
c .- 
E 
3 
m c m 
II 
[o 

m 

. ___. . 
N 

m 
€9 

2 

3 

f 

m 
2 
€9 

s ; 
f, 

0 

8 
€9 

x) 

? - 
A 

0 

64 
8 

3 

3 e 
=? 

0 

w 8 

0 x m 

cc 
U 
.;1 
(f 

a 

0 
a, 
0 
t. 

\ 
0 
tn m m 
N 

0 r. 
-3 
a, T- 

- - 
a, 
S 0 
.- 
5 
a) 

,$  



a 
2 
T- 
69 

0 x 
69 

0 

0 e 
9 

u3 x 
T- 
69 

0 z 
te 

m 
0 
69 
7 

0 

69 
x 

0 

69 
z 

0 

0 
69 

9 

0 

8 
64 

- 
T- 

m 
T- 
ffl 

0 m 
10 T- 

\. 

0 m 
N 
Lo 
fl! 

0 lo 
i$ 
Ifl! 

W 

s;: m 
w3 

0 z 
69 

0 x 
69 

a 

m 
69 
2 

0 

0 
te 

9 

d 

69 

9 
T- 

0 

8 
69 

0 

0 
69 

9 

0 

8 
ffl 

0 

2 
6% 

N 

m w 
2 

0 
2 

.; 
0 

m t. 
r; 

0 

m 6 
la 

I 

1 
, 

2 > 
;f 
Y g 

0 

m 
69 
x 

c, 

3 
v3 

9 

0 x 
6% 

0 

m m 
b9 

? 

0 

6% 
x 

t. 

69 
2 
0 
9 
3 

0 

69 
x 
0 

2 
w3 

0 
9 
8 

m 
2 m 
ffl 

a '  
P- 
d 

\ 
s! 
t- r- m r- 

0 

m 
N 
In 
b 

m 

' f :  

18 
a, 
I) 

_ _ -  
In 

2 
v 
FA 

3 

3 
ff. 
=? 

0 x 
6% 

0 

2 
r 
iff 

0 

8 
fJ9 

0 

v3 
2 

0 x 
6% 

0 

FA 
x 
0 

8 
fB 

0 

6% 
8 

0, s - 
w3 

0 
(D 
0 
N 

\ 
0 m 
F- m 
d m 

0 
N 
t. 
F- 
3 

L .- a, 
tn 

I) 
2 

Q 
E 
1= 
C 
a, -3 

d 
2 

0 

N w3 
z 

3 

2 
Y3 

0 

FA 
x 

0 L 
N 
v3 

0 

e3 8 
m 
2 
la 

0 

8 
6% 

0 

69 
x 

0 

69 
8 

0 

0 
fff 

4 

-r 

K 
N 
69 

0 
W 
N 
p3 

\ 
0 
W 
In 
IC 
'cf a 

0 
N m 
8 

m c 
3 Y 
v) 
c m 

.- - 

E 
Z 

In 

a 
N 
8 
69 

U 

d- 
A 

P 

i; 
k 
tf! 
0 

n 
2 n 
33 

0 

trg 
2 

n 

iff 
2 

0 

if3 
2 

0 2 
C 
C 
C s 

0 

6% 
8 

n 

n 
1'- 
U 

fF 

0 m m w 

\ 
2 

8 
N 
0 

0 m co 
In m m 

a, 

m 
m 
3 
m" 
x Y 
0 
0 fc 

I\- 

N 6% 
2 

3 

3 
R 
? 

0 

w3 
x 

c . 
I; 
U 
$3 

0 

2 
69 

n .- 
5 
A 

0 

ffl 
x 

3 

2 
b9 

0 

e3 x 
0 

b9 
8 

n! c 
lc n 
rr? 

0 m 
Lo < 
0 m 
N m 
W 
pc 

0 
In 

(13 
1c 

9 

L 
a, .- 2 
0 
a, 
0 
7 

W 
N 
v 

> 

(13 
in 
? 
64 

3 

3 
R 

? 

0 
9 
i$ 

D x 
3 

7 9  

0 x 
69 

n 

f3 
? 

0 

69 
8 

3 

k 3  
z 

0 x 
ffl 

0 

b9 
s 
'i 
r 
u: 
e T- 

0 
t;i 
? 

\ 
0 m co 
0)  m m 

0 cu m m m 
In 

tn 
u) 
a, 

3 

m 
'0 
C 

F 
m 

E m 
m 
N 

9 

02 x 
Y 
$33 

3 
? 
2 

0 

(A 
x 

D 
+-? . 
r- 
$3 

0 

w B 
r 

5 
A 

0 x 
ffl 

3 

ie 
2 

C c 
C 
€8 

0 z 
69 

1'- cc 
? 
e 

0 m 
nl 
N 

\ 
0 m 
G s: 

0 
P- 

m 
In 

s 

c c 
4 

i? 
2 
1 

0 

5 

. -. 

m 
T- 

9 
t9 

3 
3 
3 
A 

0 z 
69 

P 
d 
U 
A 

0 x w 
5 
3 
ff. 

0 
0 
0 
ffl 

0 

e z 
C 

C 
a 

0 

69 
x 

rc 
U n 
# 

0 
d 
W m 

J 
0 m 
9 
8 

0 
Lo 

m m 
83 

x 
a, 
Y 
- 

s 
c c 
a, 0 
c 
5 

2 
3 

N 

a z - 
tB 

3 
? 
3 

0 

e 2 

9 x 
r- 
A 

0 

(A 
2 

n z 
A 

0 

8 
69 

3 

2 

0 x 
if3 

0 

69 
x 

T- 
Y- 

5 
€8 

0 m z 
\ 
0 
d 
d 
(\1 
CD m 

0 

3 m m 

c 
0 

c u) 
E 

n 
i3 
.- 

C 

2 
m 



(D 

2 
;;;; 

0 

0 
b3 

9 

c 
C 

. s  

2 
W 

T- 
b3 

C 

1 :  

0 

(v 
b9 

2 

0 

0 
0 

9 

0 

€e 
2 

0 

N 
€e 

2 

0 

b3 
x 

OD s 
b3 

0 
0 

% 

C 

C 

) 

? 
3 



0 

e4 
(1, 

2 
%- 

0 x 
(1, 

0 z 
ifl 

0 

N 
w 

2 
¶- 

a 
U s 
a 

m 
2 

C 

C 

0 

8 
(t, 

C 

C 
4 

3 
? 
R 

1 I 

3 
P 
v) m 
l- 

- 
B .- 
$ 
E, 
E 

0 

i: 

u) 
P 

B 
I- 



0 

0 
v- 
0 N 

N 
w- - .- 
ti 
Q 
L m 
U 
C 
0 
E 

W x 
E 

3 

2 

C 
0 z 

0 
? 
L! 
f, 

E 
E 

n 
3 k3 
-7 

C 

C 

0 

(I, 
z 

C 

C 

0 

8 
#3 

L 
.I 
f 

0 
0 
N 

1 
0 m 
m m 
5 

3 
5 
r- m 

Z ig 0 

z LL 

w 
Y 

m 

1'- 
o! - v 
€e 

3 

5 

ii; 

E 
10 
cs 

0 
? 2 

E 
E 

n 

Le 
: 

C 

5 

0 
9 
E3 

C 

C 

0 

€I3 
8 

1 . 
f 

0 m s 
5- 
0 
m In 
r- m m 

0 
0 m 
In 

8 

~2 

$ 
W 
(3 

z 
t- 

d 

m 
2 
4) (I, 

? 
4 

- 
Y- 

2 
t 

iT 
? 
2 e 

C 
C 

% 
c 

? 
Y f, 

C 
C 

C Y 

3 

3 
@3 

? 

C 

5 

0 

(I, 
8 

C 

C 
t 

8 
2 
v- 

s-- 
0 
W 
0 m m 
d 

z 
0, 

r- 
d 
m 

t 

z 
W 
I: 

W 
(3 z 

9 

4 

a 

t. 

W 
2 
E 

3 

; 
R 

0 

8 
(I, 

D 

2 
r 
Le 

0 
9 
54 

0 
-? 
E2 

C 
C 
C 
M 

0 

0 
€43 

9 

C 

C v 

0 

8 
#3 

-c 
-c 

U 

tl 
T 

0 
0 - 
1 
0 
I\- 
In 
0 
N In 

0 
I\- - 0 
2 

c 

Y 0 
m 7 

5: 

.- E 
_. - 
5 
d 
t- 

W 

2 
5; 

0 z 
CR 

C 
C 
C 
Y 

W x 
.i- 
€43 

5 
5 

In 
T 
8 

C 

s 
0 

#3 
8 

I T- O 

r-4 
W lo z 
0 
W 
m H 

92 > 
d !a 



N * 
k 
(ff 

VI 
9 
3 

VI 
": 
8 

b z 
T- 
63 

0 
0 

0 M 

m 
": 
8 

0 
0 
0 
M 

0 

e3 2 

0 
0 

s 

0 
9 
8 

lT 
d 

F 
Y 

0 
N 
N 

1 -- 
0 
N 
N 
N 
0 N 

0 

0 
0 
N 

5; 

m 
r 
r 

f 

m 

2 
69 

0 

2 
Cfj 

m - 
* 69 
l- 

0 

0 
FA 

9 

0) 
4 
I;; 

0 

0 
e3 

9 

0 

€a x 

0 

8 
69 

0 
9 
3 

I'- 

2 
c? M 

z 
d 
b-- 
0 
0 
b- 

N m 
T- 

0 
N 

m 

m 
? 

I.- 
IL w 

c3 

0 
0 

2 
m 

4 

(D x 
T- 
(A 

3 

a, 
x 
0 

8 
69 

W 

2 
-7- 
63 

0 

€9 
x 

v) 
Tt 
3 

0 

tf3 
2 

0 

€e 
x 

0 
9 
22 

0 
9 
8 

I- 
T: 
10 
€e 
T- 

0 
0 m 

\ '  
------... 

0 m 

m 
m 
T- 

0 m : 

d $3 
4Q- 
7 v )  

t 
N 

m : 
01 e3 

m 
2 

5; 

c 0 

0) 

2 m 
€9 

C c 
G 

0 
'(1 
t2 

E 
s 

0 

69 
8 

C 
C 

E 

0 
9 
8 

U n 
v 
?f- 
a 

0 
I'- 

m m 

L 
T- 

-. 

0 
W 

O 
0 In 

T- 

0 
0)  

W 

-3 

-c 

m 

v) 
2 
Q - 
-J s 
z 
2 
Lr 

N 
N 

(D x 
T- 
69 

0 

a, 
x 
0 

69 
2 

W 

2 
r- 
69 

0 

0 tf3 
9 

10 

€9 
2 
0 

0 
(A 

9 

0 

0 €e 
9 

0 

cr, 
2 

0 
9 
8 

T- 
-r 

ui 
c- 
69 

0 
b 

L- 
O m m 
9 

0 
0) 
.r 

9 

z 

Z - J  
W O  
E l  m u  

353 

-3 
N 

N z 
-7- 
CA 

3 

1 
f, 

? 

0 

69 
8 

N 
? 2 
0 

0 69 
9 

\ 

t 
52 

0 

0 69 
9 

0 

w3 
z 
0 

0 
e3 

9 

0 

v3 
2 

In x 
E 

R 
8 '  
L- 
O 
IC) m 
v) 
Ln T- 

O m 
N m m 
T- 

rf w n 
K s 
4 

ul w 
I 

W 
N 

A 

I n  3 
N 69 

I 

I 

0 
9 

I 

I o  

I 8  

2 

9 

m 

N €43 

8 
0 w3 

N 
"f 
3 

0 
0 
0 w 

0 

(A 
x 

sz 
0 w 

0 

0 e3 
9 

r 
N 
b 
h w 

0 m 
Q) m 

a 
W 
)4 

sf 

0 m m m 
10 

I c 
a, 

0 
Jf 
m 
9, e 
W c 
Q 
a, 
ti 

00 
N 

0)  

2 
T- 
€9 

0 

tf3 
z 
0 
9 
B 

Ln b- 

g 
0 

0 tf3 
9 

m .r 
0 
69 

0 

u9 
x 

0 

69 
8 

0 

0 
tf3 

9 

0 

(A 
8 

0 v 
$ 
(t3 

0 
Q) 

N 
T- 

f-- 

0 
I'- 
? z 

8 
2 
-3 0) 

1 

!? 
I- z w 
0 

> z 

0 
0 

T' v s 
69 

0 

69 
8 

0 

69 
8 

2 
r 
tf3 

0 

0 te 
9 

m 
0 
tf3 

'(1 

0 

0 69 
9 

0 

69 
8 

0 
9 
8 

0 

0 tf3 
9 

00 

2 
-r 
69 

z 
d s- 
0 
I'- r- 
b- m 
tf 

0 
W m 
In 0 * 

ZI. 
3 
CI) 

2 
9 
I- 

T- 

m 

2 

(D 
v! 
? 
€9 

0 
9 
8 

0 

8 
w3 

W 

v) 

69 

u? 
-7- 

0 

8 
69 

In 

0 
tf3 

Tt 

0 
9 
8 

0 

(A 
x 
0 

0 
9 

0 

(A 
8 

Y" ĉ  
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